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 �������	ITU-R S.1857  

 �������	 �
����	 �
��	 �����	 ����� ������� ������ �������(e.i.r.p.) ���� ��!	  
"�#���	 $�%�& '( )#���	 ��*�+	 ,-	���	 .�/�0 ,�	���	 )�����* ��%123�  

 43( �5���	 ��6�7	�	 "6�( 899�- :�%; < ��5��GHz 14  
) ������ITU-R 208/4(  

(2010) 

������� 	
�  

�	
�  �
��� ���� ������ ������� ����	� �!" ��#�	�� �$%&'� ��*+� �
��, -$.�� �*/ ���
�� 0
�1/� �$2���� 34,
5"�6 . �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� ��	@$A� ��B�18C 	D=>�� �!$E� �$2���� F=>��)e.i.r.p. (-$.���� B�*GH B�	. .

 	6�� �IJ6 KL�M �!" ��N"� ��M ����?�� �$!����� ��=/� ����H O �&��P� 5������ 3�Q�� 5��R 5G�=� SH T$$>�� �$UV9�
 �&'� WC ���9��� 	>���� &�=��)FSS GSO.(  

 �D�D��	�� �X�1�X� �$
Y ZC�K�X�1�N� [�=�� ��\N  

�������� 	 
�� 
�  

 H (  5���E ZH  ]�	��^� ���=G _=>�� �̀��a ��E�9� �&'� WC ���9��� 	>���� &�=�� ��M ����?�� �$!����� ��=/�
b�;�<�� �N$;<� c� �
E�� �"��d eNG c� ����$����  

f(  bg$
�V9�� g�=h���!� iD	
�� j�*9�� ���=G� F=h���� �$!>9� T"=� �=D���� �.�8 k�9, ZH  
l(  ��*+� mD&�*� ZH  ����	� �!" ��#�	�� �$%&'�(VMES)  ���=G c� �
E�� �"��d 	6�� ZH c;n

 -%	" S��	� j�*� O ����?�� �$!����� ��=/� 5���E o" �X�1�X�GHz 14b  
� (   �$%&'� ��*+� mD&�*� c� 5��R 5G�=� SH c� ����?�� �$!����� ��=/� ��;�p �D��q �"=� �&�	r�� ZH

!" ��#�	��b34, ����	� �  
 ,(   	>���� &�=��� �D�D��	�� ����	��� m$*� ����	� �!" ��#�	�� �$%&'� ��*+� mD&�*� F�=h�E� �B�s� ZH

 �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� lM�t F�=h�E� eNG c� u>v�D ZH c;n �&'� WC ���9���)e.i.r.p. ( &�+� l&�G
�*�� 34, c� 5G�=����bmD&  

� (   ����	� �!" ��#�	�� �$%&'� ��*+� ZH(VMES)  �
<�� �&=>�� �6�?� ��D���� =D=v�� �$
�18C �̀UwVw� x!*��
 �$8�9��� �:6�;��)e.i.r.p. (b�&��P� 5������ �!" 5G�=���� &�+� l&�G  

y (  ��	� �!" ��#�	�� �$%&'� ��*+� 5�
��� z�� �$!����� ��;�<�� ZH z�� 5G�=��� ��={ F��!�� �V�$�1� c;n ��
b&��P� �!����� F��9�� �!A<� �V�!*�D  

|(   5
s� �	}���� �$!����� ��;�<�� 	6�� �!" 3~}��� 5G�=��� ��D���� T$$>�� ��$UV9� �!" e�1q� =$s�� c� -�H
 �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� ��D���� O ��	@$A���)e.i.r.p. ( �!" ��#�	�� �$%&'� ��*+� ��$
��� &�+� l&�G

K�̀$��8 �8���� 5
�E��� �*E��� �=d �� �!" T�$>D ZH c� 	1�H �,	*� Z�;D z�� ����	�  
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���� 
��  

 H (   �$2���� ZHITU-R S.728  �$8�9��� �:6�;�� �
<�� �&=>�� �6�?;� �� |����� ��1>�� ��D����� �&��)e.i.r.p. (
&�+� l&�G  �̀=. �~A1�� �v�s�� ��M mD&�*�!�(VSAT)b  

f(   �$2���� ZHITU-R S.1323  �� -� x���D S4�� ��;�<�� g� �� 5G�=�!� �� |����� ��1>�� ��D����� �&��
KS��	��� j�*9�� �s� O �!��
�� �	G'� �$!����� ��;�<�� �$�� �$
�rs��� �$%&'� �*+�  

�����  

1  uv!�� O ��&���� �$UV9�� e��
�E� �$��;�J�1  	D=>�� �� x8�1�� lM��9��� �
<�� �&=>�� �6�?� ��D����
 �$8�9��� �:6�;��)e.i.r.p. (b����	� �!" ��#�	�� �$%&'� ��*+� ��$
��, -$.�� O �*G c" �Y�9�� &�+� l&�G  

2   uv!�� O ��&���� �$UV9�� e��
�E� �$��;�J�2  �6�?� ��D���� O ��~A��� c" T.�9�� 5G�=��� ��D���� T$$>��
 �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. (b����	� �!" ��#�	�� �$%&'� ��*v�!� &�+� l&�G  

3   uv!�� O ��&���� �$UV9�� e��
�E� �$��;�J�2 �� T$$>�� z�� �X�q� O 5G�=�!� ��	
�� F��9!� �!2� 	6�� F=" ~}
 ����	� �!" ��#�	�� �$%&'� ��*+� ��$
��, -$.�� O ]���� �� �~A��� B�*G'� �V$6 o;�(VMES)  ��9�� c�

 ��8N�� O ��2���2b  
4   c� ���8N�� o�
w� ZH �A�9D1  WC5  c� �̀B�.�$2���� 34,:  

 ������1 {  � M������ ��X<F5� h��|�,� D2e Q[&5�2 ��RU�� d&- �R}U�5� ��t�i� ��#[�&� �&��~� �?����� ���� q��O��.  

 ������2 {  s�t�	 ��#$�� ��@��!� �:U���� ���H��]� ��m ��RU�� d&- �R}U�5� ��t�i� ��#[�&� ��.���� wx@ � ���O5� ���X<F5�
 �� �� �	���� ��=�2�0,3 	1,0 m �Z ��� �RU��&� ��-�:� ��-����	 ���	��2�9 	0 ��2���2�� %R�� ��E��� M�	g5�	 3km/h 100 .

D2�	 ��X<F5� wx@ Q�R#� D2e�RU�5� ��-�,	 ���H��]� ��#$0 D� p�m �� d&- �.  
 ������3 {  ��K Gt�- J���� N�#� � �&����� ��E�i� ��� ��O[&5� � M������ �&��i�	 ���&�5�GHz 14.  

 ������4 {  � �=�.�5� ��X<F5� J�:�
�<�:5� G&��, d&- 3��RU�� d&- �R}U�5� ��t�i� ��#~� � 3%R���� h�E� N�R*9 �F- ��.���� wx@.  

 ������5 {  q�$ �=��� D� �� ! ��.���� wx@ h��|�,!α 	c  M�O��� � ��&������2  Q[&5� D�1.  
 

 �����1  

�����	 �
����	 �
��	 �����	 ����� ������� ������ �=�> ��)e.i.r.p. (��!	 ����  
�5A���	 ��6�7	 ��%!	 ���B	�C "�#�- < D%� '( �E���	  

��5��� 43( (VMES) 

1 ��	
� 

�$!����� mD&�*�� c� =D=. �t O �̀����,� ��	q� B�9}H �X�1�X� ��>$�*� �!" �̀	G�� wx!*�� �"	�E� . mD&�*�� 34V6
 K-$.����� T;v�!� �&y��� ��$�� ��M ���� ����H� B��'� �$��" �~A2 ��$
��, c� �̀���" m���� ����	� �!" ����	��

 �E���� ��	��� ��=
� c�r���(IF) � S�D��	�� ��	���)RF (����'� 34, c� 5;� �2�/� . ���!
�� �
���� 	*� &��hwD�
�$!$A<��� ��	���� �D&�r��� m!�� O g,�QX� O �X�1�X� ~6��� �	G'� e�E&^� . �V$6 	�9wD z�� mD&�*�� 5�
�E�

 -%	" S��	� j�*� c�% ����?�� �$!����� ��=/� O uv!�� �4, OGHz 14.  
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	�� mD&�*�!� c;n��&��d 5���E �!" O�%C 5G�=�� x���� ZH K������ 34, O 51s�� �v9�� �!" K����	� �!" ��� 
��	q� c" �Y�9�� �
���� -$.�� B�*GH B�	. .����� ��H O 5G�=��� �4, B�>�C �A�9D K5����� 5@A<� &��9� c�6 . c��

�
�$E ��=/� ��=>� ZJ6 K�	GH �$8�� T"=� e�E&^� �&=� c� �s;D �� mD&�*�� 	6�� �${ TV����H T$�1� WC Z
���>
� ����$� �X=
� g$
�V9�� g�=h���� ��>$�*� . e�E&^ �.�q� SH K��&�r��� x��*�� 34, uv!�� �4, e��9�D�

�� � 5G�=�!� ����� �!" ��6�+� �� ���>
� ����$� �X=
� �̀�"� �&=>�� c� �s;D5������ �!A<� e��>.  
 WC S��� ZH ������� �
���� -$.�� F��� O B�*G�� c;n K�
��, �19� ��	q �̀	��� K��	q� B�9}H �X�1�X� ��>$�*� O

�
���� -$.�� O B�*GH.  ��~$A� WC �$rs� �$
��<"� �s$s� ��	q� c" �Y�9�� �
���� -$.�� O B�*G'� Z�;� �� �̀��"�

��<" �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� O �$)e.i.r.p. (&�+� l&�G .X K�	G'� 5������ �!" 5G�=��� ~}�� T$$>���  =�

�$�;�� �V��$� =D=\ c� =� X� mD&�*�� 34, c� ��&���� �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� �.4t c�.  
�� �̀$
�18C �̀.M�t uv!�� �4, �	
D� �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� ��D���� 	D=>)e.i.r.p. ( -$.�� B�*GH c" �Y�9��

&�+� l&�G ��,�QX� O �$8�9��� �:6�;�� �
<�� �&=>�� �6�?;� �v$%�� �
�18C ��9� �%�� �̀UI �	
D� K�
���� .
*�9�� �$!$A<��� 0
�1/� �v$%���� �
�18^� ��9>�� �4, �"�	D� -���
�E� c;n� K����	�� �!" ����	�� mD&�*�!� �$

&�+� l&�G mD&�*�� 34, �� c� =v!� . �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� xE�9�� K�!��E �%&H ��	*� O�
)e.i.r.p. (���� �G 3�Q� O �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� �� �̀	p��� &�+� l&�G -��,�Q� O=D=1 . uv!�� �4, 	6�D�

 �
�18^� ��9>�� �!� �${ =D=���� �G �!" �$8�9��� �:6�;�� �
<�� �&=>�� �6�?;� ��E�9�� ��D����� =D=v�� �$UV9�
3N"H �v$%����.  

2 ���
� �� ������ ������ ����� �����  

~A�$E �
���� �19� �9$
� ��	8 ��	� 5� O �
���� =D=�� �G Z�;� . ~A�� �
���� -$.�� �*G 5?��D ZH c;n�
 K�
��<"φ�
���� =D=�� �/ ��1>��� �!
s�� g,�QX� g� �D����� �6���� �, K . K�̀$!�" �4s9�� �X�q� c� =D=
�� O�

�� -$��;� ��X=� �
���� -$.�� �*G ��>D� : ��s�&X� �D��y �*Gφε  ]���� �D��y �*G�φa . �*/� ��;� 5$?a c;n�
������ ���\ k	\ ��~�� o" 4#s9� ��E�$>� �$
�18^� ���
Dy�� &=>w� i
��� �Vr
� c" �!>��� �$
��<" ��~A�� cD4,. 

 �X���8X� �6�?� ���=� ��	wD�(PDF)  �D���!�φx ��	��� 
x

fφ  �$8x = ε,a . e��� 5#?a ZH =$s�� c� �$%���� ��	�'�
�6�	
� �$
�18C ��
Dy��� 34, �X���8X� �6�?� . ZH ��	q� c" �Y�9�� �
���� -$.�� B�*G' o�h�� ��E�$� ]9$� =��

.�� B�*GH T$� �o� �� �MC �̀
D	E 5v�r� c� �IH� ǸD�� ���DM =�a B�*G'� 34, 0
�1G�
���� -$ . �Dy�� o�
wD�α 
 	��9��� 	>����(SαS) ]Shao �Nikias K1993 bSamorodnitsky �Taqqu K1994 [ �!D�� 0
�1G SM �Dy�� �!" X̀�?�

]����� ��s�&X� zD��y O �
���� -$.�� B�*GH �X���8� �6�?� e��� ��$v$%�� 5?�$� 5�
��wD� Ke�D4�� . �Dy�� O�
SαS  =D=
��� c� �Dy����� K�X���8X� �6�?� e��� m!�� =$���� �V��=h�E� c;n z�� ���!
� �E�A���2�G ���8 �, .

 �Dy��� ��$��� ���=�� �*
��SαS !
� SM�!D ��� K	s2 ����� ��:  

 e)(
–

α
=ψ cx

x  (1)  

 �$8c > 0 � K]�<��� �H �
.	�� T�!��� ��!
� �,0 < α ≤ 2 �$��� �'� �, . �'�� �Dy���� 5DM ��= �α S��� �$8 K
 xE�9��� Ke��H e�DM WC 	A2'� T$>��c  �X���8X� �6�?� ���� �	" ��(PDF) ���8 O -��� �̀�!" bα = 2 �A$1�� ZJ6 K

 3&�=>� 	@$A�� S	s2 �E��� �E�A�� �Dy��!� �2�/� ���q� �*
� 3N"H2c
2 . 5;<�� 	V�D�1 � ���� ����	��� �Dy���

____________________ 

1  ������ ��� 	
�� ��
 �	
��� ��� ������ ��� ��� ���� ��!� 	
�"� �#� ��� $�$�%!� &' 	
�� ()*+,�. 
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(CDF)  �Dy���SαS  5.H c�c  =0,14 �º0,35  c� �s!�� T$>�α . =D=
�� 5$?a c;n Kg��!
�� g��, T$� ~$A�� -�H �r�D�
�$!�
�� �E&���� O ���1� z�� �
���� -$.�� B�*GH ¢�tH c�.  

 �Dy���� &�$�GX �E=q� 	Do��� ��	DC c;n�SαS �.4�9� [���� �v9�� �!" ��	q� c" �Y�9�� �
���� -$.�� B�*GH : m����
 ���2	�� �
���� -$.�� B�*GH �
��, �19� �"	E� �D&�r��� ��	�� �
���� 0
�1G 5?� 5���
�� c� =D=
�� �!"

�p^� �=p ��E�$�� �V
%��� 	D=>��� ��=
� ����� �
���� O ������ ��	"� ]����� ��s�&X� �D��y��& . ��	�6� c;n�
�s!�h�� ���!
�� 34, �$Y �V$6 T,��� z�� B�*G'� �$�N>�E� . ���
�� S��	�� =q� �D	�� u$�*� c;n K���q� 34, O�

]Samorodnitsky �Taqqu K1994 [ �Dy��� 34, �*/� &��1� ����	��� 	}'� �.4�9�SαS� �!}�£ �U8 Z�� �̀�!" b �D	�9
=� S��	�� =q�  �E�� �Dy��� ������� -$.���� B�*GH �.4�9� �=�� �=$
� �D	1� �N2� O ]!�
w�E�]Chen �Gardner K

1989 bCorrel K1996 .[�	"� �D&�r� 5�<� uv!�� �4, O �	���
�� �$!$A<��� �:$��� ZJ6 KS	1��� u$�*�!� �̀6NG Kc;�� .
 ��M �*/� ����;� 4G�� ZH g
�D K[������&���"X� O 5D4�� �!D�� ��
Dy����.  

 

<��¤ 5;1 

 �������� 	
����� 
���(CDF)  ��� ����� ��� ������ ����� ��� 
!��"� 
��!��α #c  

  1857-01

��-�%!� / 01')3
-�$!
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��-�%!� / 01')3
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3  �������	 �
����	 �
��	 �����	 ������ ������	 ������	)e.i.r.p. (���	 ����  

b�$
��<" ��	@$A�� �
���� -$.�� B�*GH �ow�"� K�>����� �	>s�� O 34, �$
��<
�� -$.���� B�*GH �rsw�E �$8  ����� WC
 �6�?� c��
��<" �� �!" ���s�D �$8�9��� �:6�;�� �
<�� �&=>�� . o�
w$6 K�	>s�� 34, O ��H �6�?� ����� �
<�� �&=>��

 ����	��� �Dy���� ���� ��=\� �̀$
��<" &�+� l&�G �$8�9��� �:6�;��(CDF) -� �2�/�.  
 =D=\ 5.H c�� �6�?� ������G �$8�9��� �:6�;�� �
<�� �&=>��K&�+� l&  �
��, x�� �*� O 	�9� K�$%���� ��	�'

 �D	
�=�� �v�s�� SM �:6�;�� u�*��]Maral �Bousquet K2000:[  
2

1

1

1

)sin /(

)sin /()!1(2
)(

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

ϕ×λπ

ϕ×λπ+
=ϕ +

+
+

n

n

n

d

dJn
G

  
(2)

  
�$8:  

  ϕ:  &�+� l&�G �D�����  

  J
n + 1:   5�� ����)Bessel (x$�	���� e�'� ��9�� c� (n + 1)  

  d:  �D	
�=�� �v�s�� 	*�  
  λ:   e���.���.  

� n �$����� �v�s�� ��B�%C 5��>� z�� �v�s�� �B�%C ��!
� �, 3N"H:  
n = 0 ��$��?� ����9� �B�%C  
n = 1 ��$:6�;� �B�%C  
n = 2 ��
�	� �$:6�;� �B�%C.  

 5��>� ��@$>� x�� ��
pC ��**� g� �� �!�
�� ������ O �v�s�� ����H c� =D=
!� ��$
	�� 0s�� �>D�n = 1 �n = 2 .
 ����
��� ��=� 5?��� X =� �$!�
�� ��$
��V!� �$����� ¥�1s�� ZH 	�4��� 	D=.�(2)b  K5$!v��� O �̀�$" �$� �4, c;��

MC  �$����� ¥�1s�� c� X̀=� ��$
& 0s��� �,¦��H =�$>D z�� �̀=. �~A1�� ��v�s�� ��M mD&�*�� �!" 5�
�� �4, ��	D.  

<��¤ 5;2 

�� ����� 	
�� 
������ ����� ��� �φ. ����� ����� ��! �� "�#$�%&� '�()��*: 	+�,� "�,- . "�
/0� "�1� 	,�  
 
2��3��45� /*�6O* 
S * 
7�8,&� ���%�� ��OB * 
������ �9�%� ;� <�=� ��ϕ /�1� >/�� "9*�?�� ��  

 "�,- ��!Sϕ* 
ϕθBS  <�=�* �9�%��� ;� <�=� @A "B9*�?�� "C�%&� ��Sϕ  

  1857-02

Z

S

Y

θ
BSϕ

X

O
φ
ϕ
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 O 	�99�� �6�?� ����� �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. ( K�
���� -$.�� O �*G ��.�� &�+� l&�Gφ . �̀>6��
 �	>s�� O �&���� mD	
�!�2 Kφ �
���� =D=�� �G 3�Q� O �*/� �, . 5;<�� g�D�2  =D=�� �/ �E=9�� �%�����

 K�
����OB�
���� -$.�� O �*G ��.�� K . �*>9�� O �9, �%&'� ��	*�� �>D�O �*>9�� 5?a� KS  K��1>�� 5����� ����
 �, -$.���� B�*GH f�$� O �
���� &�R ZH �${OS . �V6 &�+� l&�G �D����� ��Hϕ O 3�QX� �4, 	V�D� KOSϕ .

GH ��.���� �
���� =D=�� �G g� �@D����� �6���� WC ��	wD K�
���� -$.�� O B�*OSϕ  ��	���θBSϕ . ���8 O -�H §8N��
 K�
���� -$.�� O B�*GH ��.� F="θBSϕ = ϕ . c" ~�
��� c;n Z¨�� �6�?� ����� �$8�9��� �:6�;�� �
<�� �&=>��

)e.i.r.p. ( 3�Q� O &�+� l&�GOSϕ �!" [���� �v9��:  

2

1

1

1

)sin/(

)sin/()!1(2
 )(

⎟⎟
⎟

⎠

⎞

⎜⎜
⎜

⎝

⎛

θ×λπ

θ×λπ+
=ϕ +

ϕ

+
+

φ
ϕ

n

BS

BSn

n

B

d

dJn

EE  (3)  

 �$8EB �,  �6�?� �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. (=D=���� �G 3�Q� O . ����	��� �Dy���� ���� =D=v���(CDF) 
 �A$1!�Eφ(ϕ)  g9��;�� g$
��<
�� cD	@$A��� ��X=� �V9" ~�
��� c� =� Xφε �φa . ZH §8N��θBSϕ  ���� �,φε �φa K

 5;<�� O �E=9�� �%����� F�=h�E���2 K g,�QX� O ]����� ��s�&� zD��y ��X=� L�M c" ~�
��� c;nOB �OSϕ 
[���� �v9�� �!":  

2
sin) cos cos(– cos cos

–

2–– ϕ
ϕϕϕϕ

×ε+εε=θ + BS

BSBSBSBS

a

  (4)  

 �$8)– (
ϕϕ

εε=ε SB

–

BS �) (
ϕϕ

ε+ε=ε+
SBBS  g,�QX� O ��s�&X� zD��y g� ����� |	*�� 52�8 ��OB 

�OSϕ [����� �!" . z*>�� �%&'� ��	*�� ����� �9$
� T$>��S �SϕK  ��s�&X� zD���� g�$����� g���=�� f��8 c;n
]����� :,SSSS )(

ϕϕ
ε+ε=ε+

), –(
–

ϕϕ
εε=ε SSSS �)(

ϕϕ
= SS

–

SS a–aa .�M =
�� K=D=�� �G 3�Q� ZJ6 KL
 ��=��� �!" �>D K-$.���� B�*GH f�$� OOS �9D=� ��1$6 K)– ( εφε=ε SB �)( aSB –aa φ= . g� �� ������

�!D �� ©�9D Kª$1�� 34,:  

)–(

)–(

)–(

––

––

aSSBS

SSBS

SSBS

aa φ=

φε=ε

φε=ε

ϕϕ

ϕϕ

ϕϕ

ε
++

ε

  (5) 

 c@$�;�� =D=\ c;n�–

ϕ
ε
SS

 �
ϕ

ε
SS

+ �–

ϕSS
a �%&'� ��	*�!� g
� �E=9, �%�a O . ����
�� c" �%�
�EX�� «(5)  O

 ����
��(4) c" 	��
D KθBSϕ  g�*>9�� WC �̀>��� ��=+� ]����� ��s�&X� �D����� ]����� ��s�&X� �D��y O B�*G�� ���=�
S �Sϕ.  

 ����
��� K 3N"H B�	.^� F�=h�E���(3) c" ~�
��� c;D K �6�?� ����� �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. ( O
 3�QX�ϕ  K&�+� l&�GEφ (ϕ) g$
��<
�� �*/� S~A�� ��X=� Kφε �φa . �X���8X� �6�?� ���� WC ��	wD�(PDF) 

 �A$1!�Eφ (ϕ)  ��	���φE
f . cD	@$A��!� �X���8X� �6�?� z��� ZH ���φε �φa  ��
Dy��� ZN#?aSαS ��	�' K

 =D=\ c;n K�$%����φE
f  �X��
�� c�(3) �(4) �(5) . ��$9>��� F�=h�E�� �X���8X� �6�?� ���� =D=\ c;n�

��&�� ]��� ����R �H �$!$!v��� . ����	��� �Dy���� ���� ��H(CDF) � �6�?;�V6 �$8�9��� �
<�� �&=>�� :
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{ } ∫ φφ
==<φϕ

y

EE xxfyFyE
0

d)()()(Pr .� ���� �, 34, ����	��� �Dy���� ���� Z�� �̀�!" �6�?; �
<�� �&=>��
 =D=���� �G �!" �$8�9��� �:6�;��EB.  

4  �������	 �
����	 �
��	 �����	 ����� ����� ���� �����	 ����)e.i.r.p. (!
"#�	  

 B�	.C �>����� �	>s�� O �	w" ����	��� �Dy���� ���� =D=v��(CDF) � �6�?� ���� l&�G �$8�9��� �:6�;�� �
<�� �&=>��
�+�& .e���8� =D=\ c;n KB�	.^� �4, F�=h�E���  �6�?� ����� y��Q ����� &�+� l&�G �$8�9��� �:6�;�� �
<�� �&=>��

�9$
� �$
.	� ���" . ��	��� �
.	�� ������ �4� ��	wD�ERef (ϕ)  3�QN� ���� �̀���" Z�;D ZH c;n S4��ϕ . c" 	��
D�
 ����� �!
D ZH e���8� �6�?� &�+� l&�G 3�QX� O �
.	�� ������ L�M c" �$8�9��� �:6�;�� �
<�� �&=>��ϕ K

Pr{Eφ(ϕ) > ERef(ϕ)}K [���� �v9�� �!":  
{ } ))((–1d)()()(Pr

)(

ϕ==ϕ>ϕ
φϕ ϕ∫

∞
φ Ref

Ref

EFxxfEE E
E

ERef  (6)  

 ����� ����	� �Dy�� ���� 34,�(CCDF)  O f��+� &�+� l&�G �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� �����ERef (ϕ) K
 K�D���!� ���� �,�ϕ K=D=���� �G �!" �$8�9��� �:6�;�� �
<�� �&=>�� �6�?�� &�+� l&�G KEB �%&'� ��	*�� ������ b

 ]����� ��s�&X� �D��y |	�� ��¬ �!?��� 5������
ϕ

ε
SS

+ �–

ϕ
ε
SS

 �–

ϕSS
a . c;n 3N"H e���8X� ZH �=q� c� �r�D�

 is­ -rsGEB �6�?;�� Z�;� �${ e���8X� �4, c" ~�
��� =$s�� c�� KEB -$6 � 	2 ��!
� . c;n KL�M u$>v���
 ����
�� �����(3) [���� �v9�� �!" :Eφ (ϕ) = EBG (θBSϕ) �$8 KG(θBSϕ)  ZH �${ K�@$>�� �
���� x�� �*� �,

G(0) = 1 . ����
�� O e���8X� ����� c;n�(6) [���� �v9�� �!":  

{ } ) / )((–1 / )()(Pr
)( BRefGBRefBS EEFEEG

BS

ϕ=ϕ>θ
ϕθϕ

  (7)  

�$8 FG(θBSϕ)  ��
p^� �*h� ����	��� �Dy���� ���� �,G(θBSϕ)  �6�?;!� ���� ]�$��EB . �!
D ZH e���8� �*
D�
 ����� �6�?� �
.	�� ������ c" �$8�9��� �:6�;�� �
<�� �&=>��ERef (ϕ)  ®�
D X L�M c;�� b3N"H �&���� �v9�� �!"
 ����� �6�?� j�6 �� �=
���� �$8�9��� �:6�;�� �
<�� �&=>��ERef (ϕ) . e���8� �E�&� eNG c� x���� �4, ���
� c;n�

��$>!� &�+� l&�G �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� ����� y��Q (EIRPexcess × ERef (ϕ))  �$8EIRPexcess ≥ 1  �,
��$>�� 5��".  ����
�� O L�M F�=h�E���(7)�!D ��� f�!*�� e���8X� ��1D K :  

{ } { }
) / EIRP )((–1

) / EIRP  )(  )(Pr)EIRP  )((  )(Pr

)( BexcessRefG

BexcessfReBSexcessRef

EEF

EEGEE

BS

×ϕ=

×ϕ>θ=×ϕ>ϕ

ϕθ

ϕφ  (8)  

 ��
p^� �*h� ������ ����	��� �Dy���� ���� �, 3N"H e���8X��G(θBSϕ)  O �̀���R(ERef (ϕ) × EIRPexcess / EB).  
 ����
�� O e���8X� f��q ����� B�	.^� ��H(8) �V6  [���� �v9�� �!":  

 �����1:  �
���� -$.�� �*G ���;� �, �9, �9��;�� �$
��<
�� ��~A���φε �φa �X���8X� �6�?;� ��V$���� ZH �	�swD� K
(PDF)  �	>s�� O ��� K�$%���� ��	�' KZ��6�	
�2.  
 �����2:  ��s�&X� �D��y |	�� �Y �!$18 x�vw� K&�+� l&�G 3�QX�� 5������ �%&'� ��	*�!� �6�	
�� ������ O�

 ]�����+
ϕε

SS �−
ϕε

SS �−
ϕSS

a  �	>s�� O �%��� �v9�� �!"3 . O �U$�9��� ��
��D� ����
�� O �D����� 34, 5�
��w� «
 ����
��(4)  c" ~�
�!�θBSϕ  g$
��<
�� cD~A��� ��X=�φε �φa . �X���8X� �6�?� ���� 5�
��w� «(PDF)  ���=�θBSϕ  ��=+�

 ������ ����	��� �Dy���� ���� f��q �v9�� �4, �!"(CCDF)  �
��<
�� ~A��!�G(θBSϕ).  



�������  ITU-R  S.1857  

  

8

 �����3:  ����
�� O f��	�� e���8X� ZJ6 K�̀~GH�(8)  c� ��=  ������ ����	��� �Dy���� ����(CCDF)  �
��<
�� ~A��!�
G(θBSϕ)  �6�?�� �y���U��� �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p.excess (���!
��.  

5  ����� ��	
�� ��
��� ������ ��
��� �
�� ���
���� ���
���)e.i.r.p. ( �!�� "# 	�$�
��%� &�
'  

 �!"H =8 �%� c;n ����� y��Q e���8� �!" �6�?� l&�G ���� c� =v!� �$
.	� �D��� �$8�9��� �:6�;�� �
<�� �&=>��
��	q� 5
s� �
���� -$.�� O B�*GH ��.�� &�+� .
�� O f��+� e���8X� ZH �%���� c� c;�� ����(8)  �!" =��
D

&�+� l&�G �D������ 5������ �%&'� ��	*�� ����� . �*E �!" Z�;� SH O ���.�� �>D ZH c;n �%&'� ��	*�� ���
5������ �%&'� ��	*�� ����� c" �!>��� ���� e��
�E�� &�+� l&�G ���� c� =q� �̀=. -$6 f��	�� c�6 K�&'� . c��

K�$��?�� �$8�9��  e���8N� �!
�� =q� j�>�p� c� ��s��DPr{Eφ (ϕ) > (ERef (ϕ) × EIRPexcess)}  K�=8�� ���� c�
Pmax (EIRPexcess) u��*� K&�+� l&�G �D����� �$Y �!"� �&'� �*E �!" Z�;� SH O . K34, e���8X� ���� =v�6
Pmax (EIRPexcess) �� c� K �6�?� ����� Z�<� �̀$
�18C �̀"�9� 5;<�� K&�+� l&�G �$8�9��� �:6�;�� �
<�� �&=>�� �6�?�

�$8�9��� �:6�;�� �
<�� �&=>��.  
�2�/� ���q� O 	�9� K3N"H 	�M ��� K�
�18^� �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� ����� ��9� �!" e�1v!��  ��=9"

 Z��*>9�� Z�;�S �Sϕ !" ]\ �	p��� B���EX� �G �!" �%&'� ��	*�� �>D� �&'� WC ���9��� 	>��� &�=� �S . �s6
 K�!$;<��� 34,εS = 90º �oo )–90( ϕ=ε ϕS

 �o270  �H
o

90=
φs

a �
o

90=
S

aZH L�M �!" x�	�D� K: 
o)–801( ϕ=ε ϕ

+
SS

  �Hϕ=ε ϕ
–

SS
 H� o

0
– =ϕSS

a  �Ho

180 . ����
�� O ª$1�� 34, e��
�E���(5)  �%�
�EX��
 ����
�� O �U$�9���(4) ����� c;a KθBSϕ �!D ���:  

2
sin))–cos(– )–(cos(–)–cos(cos 2 a

BS

φ×φϕφϕφϕ=θ εεεϕ
  (9)  

 ����	��� �Dy���� ���� Z�;� c��)CDF ( �
��<
�� ~A��!�G(θBSϕ)  e��
�E�� 5�1vw� z��θBSϕ  ��s�&� zD���� �̀��� 3N"H
 �̀��� Z�;�E 5� b5����� WC �%&'� ��	*�� c� g��=R ]¯� K&�+� l&�G �D���!�ϕ . �!" u�*9� z�� ���=�� j�>�pX�

 ����
�� O �1�'� e���8X� O 	�9� &�+� l&�G �D����� �$Y(8) &�G �D����� 5� �!"&�+� l . e���8X� �4, c" 	��
D�
[���� �v9�� �!" f�!*�� �1�'�:  

{ } ) / EIRP )(()(Prmax)(EIRP BexcessRefBSexcessE EEGP
B

×ϕ>θ==
ϕ

ϕ

  (10)  

 K« c�� b&�+� l&�G �2�G �!" X� K5����� �H �%&'� ��	*�!� ��=R ����� �!" 3N"H y��U��� e���8� ���� =��
� X�
�̀$v$%�� �̀"�9� Z�;�� ��E�9� �vp	� ���=�� 34, ZJ6 � �6�?; �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. ( K&�+� l&�G

Pmax (EIRPexcess).  
 �� c� =v!� 3N"H &��4�� ©V9�� u$�*��� �6�?� �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. ( K�!�" �
��, F��9� &�+� l&�G

�$!$A<��� ��$>�� c� �!D �� =D=\ �A�9D :� �
.	� ����� �6�?; K&�+� l&�G �$8�9��� �:6�;�� �
<�� �&=>��ERef (ϕ) K
 ����� y��U�D Z' �1�'� e���8X�� �6�?� ����� �$8�9��� �:6�;�� �
<�� �&=>��(ERef (ϕ) × EIRPexcess)  5� �!"

 K&�+� l&�G �D�����Pmax (EIRPexcess) ����� �v$%�� ��9� �,� K �6�?�� �
<�� �&=>�� �$8�9��� �:6�;�)e.i.r.p. ( l&�G
&�+� .�$����� T$>�� �	
w� ZH �A�9D g
� �
��, F��9�� : ������ -$.���� �*G ��B�18C� �@$>�� �
���� x�� �*�

f��	�� 5������ �%&'� ��	*�� . ��% �, �=��� �6�?� K=D=���� �G �!" �$8�9��� �:6�;�� �
<�� �&=>��EB F��9� K
�� ����� �!" �$!$A<��� ��$>�� °!� �${ �
�� �6�?� �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. (&�+� l&�G . c" L�M T�D�

 ������ ����	��� �Dy���� ���� f��8 uD	�)CCDF ( �
��<
�� ~A��!�G(θBSϕ)  �6�?;!� ���=�EB  =D=\ « K����
�� O ���
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 ��E�9�� ��$>�� �6�?;!�EB  =$>��� 34, ������ ����	��� �Dy���� ���=� ��1>�� ��$>�� =vw� �${Pmax (EIRPexcess)  �$��
T$� ϕ �e.i.r.p.excess . �	>s�� O �	D�7  ����
�� O e���8X� ���� F�=h�EX ��*­ ��*G �v$%�� f�!EH(10)  c� =v!�

 �� ����� �6�?� �:6�;�� �
<�� �&=>�� �$8�9���)e.i.r.p. (�!�" �
��, F��9� &�+� l&�G.  
� c@$
� �v$%�� �
�18C ��9� j�>�pX� ���� �6�?�[���� �
.	�� ������ O 	�9� K�$8�9��� �:6�;�� �
<�� �&=>��  �6�?;�

�$8�9��� �:6�;�� �
<�� �&=>��:  

⎪
⎪

⎭

⎪
⎪

⎬

⎫

⎪
⎪

⎩

⎪
⎪

⎨

⎧

≤ϕ≤
<ϕ≤ϕ
<ϕ≤
<ϕ≤ϕ

=ϕ

1808414–

489.2)(log25–28

2.974

72)(log25–25

 kHz)(dBW/40)(fReE  (11)  

 �6�?� ��9� �4,�� �&=>�� �$8�9��� �:6�;�� �
<�)e.i.r.p. ( �$2���� O �=+� �v9�� �!" &�+� l&�GITU-R S.728   
 ��8N�� x��. WC1 �$2���� 34, O . 5;<�� g�D�3  ����
�� c� cn'� x����(10) )T$�
� Z��(K  

Pr{G(θBSϕ) > (ERef (ϕ)× EIRPexcess /EB)} ���=� Kϕ  g�6�?;!� ����?�� T$>!�e.i.r.p.excess �EB.  5;<�� g�D�4  ��$>�� 34,
 K��1>��)(EIRPexcessEB

P g��!
�!� Kα �c  �X���8X� �6�?� e��� O(PDF)  5
s� �
���� -$.�� �*G ����;�
 K��	q�φε �φa  K=D=���� �G �!" �$8�9��� �:6�;�� �
<�� �&=>�� �6�?��EB . 3N"H g$
��<
�� cD~A��� ZH �	�sD �9,�

	G¨� c" ��Vr
� ZN>���� Ǹ}���� �̀
Dy�� Z�"y�� . ����
�� O �*
�� �
���� �*h��(2) �$����� �$!$?���� T$>�� �~�G� K
 �	
� S��	� j�*� ��>$�*��GHz 14 :d =0,51 m � n=  1  ��	���� =GHz 14,2 .'� T$>�� O -�H §8N�� ��!
�!� o�α K

 ���� 5DM 	1>D e���8X� eNv�%� Z�;D K[������ K�
���� -$.�� �*/ �X���8X� �6�?�)(EIRPexcessEB
P �	EH .

 ��!
�!� 	A2'� T$>�� O KL�4��cu$r� K ����  e���8� e¦�r� WC S��D �£ K�
���� -$.�� B�*G' �X���8X� �6�?�
)(EIRPexcessEB

P . 5;<�� O �9$��� ��$9v9�� ZH �%���� c��4  �6�?;�� �!" =��
�EB : S���E �6�?;�� 34� 	A2'� T$>��6
 e���8N� 	A2H T$� c� �V!��>D �� �!")(EIRPexcessEB

P . ��rw� K5;<�� �4, O �	,���� ��$9v9�� �s6EB =9"  �V��$�
 e���8� �5>D �${ ��1>��)(EIRPexcessEB

P�$����� ���!
�!� �!��>�� -��$� c" 5$!>� ©��9�� :α  =1,5 �c= 0,35º   
� EB =21,53 (dBW/40 kHz) . 5$2�s� ±²��9� K�$����� �	>s�� O� �6�?;!� �9$
� T$� =D=\EB 5;<�� �4, O �9$���.  



�������  ITU-R  S.1857  

  

10

<��¤ 5;3 

 ������� 	
 	��� 
����(10) )����� ��� ( ����� ���� ������� ����!ϕ �  
 ��" #$%�� &�'e.i.r.p.excess (dB) *+ ,-��� .�/����� :α  =1,5   

�c   =0,35º �EB   =21,53 (dBW/40 kHz) �n =1   
 ��-%��� =GHz 14,2  

  
   

1857-03
���� ���� 	
���
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<��¤ 5;4  
 0�/%1�PEB 

(e.i.r.p.excess)  ������� 2 ������(10)  .3�/%13� �4�5! 0��� 2 �6�%7 .�/���(PDF)  
*8��9� ;�<�� >?� .���@� . ��BC6%�� �/8�D�� EF��α �c ).�<����G (�EB

 (dBW/40 kHz)  

  

o�
wD  5;<�� O �9$��� ��$9v9�� c� SH4  �̀�E�9� �̀vp	� �̀$v$%�� �̀$
�18C �̀"�9� Z�;$�� �6�?; �$8�9��� �:6�;�� �
<�� �&=>��
)e.i.r.p. (&�+� l&�G . ���!
�� 5��>D S4�� 5;<�� �4, O �!"'� ³v9�� &��hwD Kuv!�� �4, O�α  =1,5 �c  =º0,35   
�EB  =21,53 (dBW/40 kHz) � �̀$v$%�� �̀$
�18C �̀"�9� �6�?; �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p.( KPmax (EIRPexcess) .

 -���!
� T$� ZH �!" ~<� ��$>�� ©
��� i
� Z' ³v9�� �4, &��hwD�)α �c ( 5$A<��� �D&�r� ��	� c� ���
�� 5?a
����	�� ��"	E� . ��$� =D=\ �$!�" ±²��9��EB  �	>s�� O6 .�v$%���� �
�18^� ��9>�� xD	>� c;n� � �6�?; �&=>��

� �:6�;�� �
<���$����� �A$1��� &�+� l&�G �$8�9��:   

100)297.1–561.0–(0.016exp)( 2 ≤≤= xxxxP
max

  (12)  

 �$8x = e.i.r.p.excess (dB).  �
���� F��� e���8� �5>D ZH �A�9D Ke�?�� O �&���� ��9>�� �4� �
���� F��� F��!D �;��
 ����
�!� �̀>6� f��+�(10) KPEB (e.i.r.p.excess) e���8X� c" KPmax (EIRPexcess)SH K:  

10EIRP1))(EIRPlog(10)(EIRPmax  10 ≤≤×≤ excessexcessmax excessE
E

PP
B

B
  

(13)
  

 c" �1�'� =q� �!
D �$8EB . 5;<�� O ��$9v9�� c� �	D ����4� �s� ZH �
���� ����' c;n K O �&���� ��9>��
 Ke�?��Pmax (EIRPexcess (dB)) g��!
�!� �"�9�� T$>� Kα �c  �6�?;!� ���>
� ��D���� =9"EB. 

6  ����� ���	 �
	���
� �����
� ���
� ������)e.i.r.p. (������� �� ���  

 F�>� K�>����� �	>s�� O ����>�pX� c� �r�D ��� �6�?� K=D=���� �G �!" �$8�9��� �:6�;�� �
<�� �&=>��EB &�=� K
����	� �!" ����	�� mD&�*�� B��H =D=\ O ��$
& .� O ��&���� e���8X� ���� ZH §8N�� ����
�(10)  �!" �̀=$� �	s�

 �6�?��$8�9��� �:6�;�� �
<�� �&=>�� =D=���� �G �!" . K�&��P� 5������ �!" 5G�=��� =D�� �6�?;�� 34, ���Dy ZH ���
 uv!�� �	
D�2 mD&�*�� 34, c� 5G�=�!� Ǹ1s� Ǹ$!\ .����� =� X�  �6�?��$8�9��� �:6�;�� �
<�� �&=>��  �G �!"

1857-04
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 �
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g�6�9�� g�!� �!D ZH =D=���� : ZH Z��%� K����$��� c� ���>
� �X=
� T"=� �&=>�� c� �s;D �� e�E&^ �.�q�
�&��P� 5������ �!A<� e��>� T.�9�� 5G�=��� . ��$� =D=\ c;n�EB  ��*+� O ���>
� �X=
� ����$��� 5>9� ��yN��

� ����	� �!" ����	�� �$%&'��9����� �$%&'� mD&�*�!� �!��>�� ��$>�� �� �V��&�> . 5;<�� �%�D�5  �6�?� ��9� �&=>��
 �$2���� O �=+� �v9�� �!" �9����� �$%&'� mD&�*�!� �$8�9��� �:6�;�� �
<��ITU-R S.728  ����
�� O -9" o
���(11) .

 �̀rDH 5;<�� �4, 	V�D���1>�� T$>��  �6�?;�� �&=>�� -�v�6 	*� ª!�D �
��� �!��>�� &�+� l&�G �$8�9��� �:6�;�� �
<�
d = 0,51 m . �6�?;� ������ �4, 5�1 � ���Dy uD	� c" �
��V!� &�+� l&�G �$8�9��� �:6�;�� �
<�� �&=>��EB  �̀$´&=�

©��9�� ��
p^� �*� 51D µ8  �6�?;��G �$8�9��� �:6�;�� �
<�� �&=>�� �$2���� ��9� Z�� �� WC &�+� l&ITU-R S.728 
5$!>�.  ��$� ZH �%���� c��EB  -�v�6 	*� ª!�D �
��� ��9>�� ����Dy �!�d =0,51 m SH KEB = 23 dB(W/40 kHz).  

<��¤ 5;5 

 �������	 �
����	 �
��	 �����	 ������ �����	 �����	)e.i.r.p. (������	 �� ��� ���	!" #"  
 ��$���	ITU-R S.728 .%& '���
�	*: d =0,51 m *n =1  ++!��	* =GHz 14,2  

  
  

 5;<�� O �9$��� ©
��9�� 5?a5 �
���� -$.�� O B�*GH �V$6 =.�� X z�� ���q� .B�*G'� 34, 5� �s6K i$s¶ c� =�X 
 �6�?� �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. ( ���!>� x��� =D=���� �G �!" �6�?� �*� �
<�� �&=>�� �$8�9��� �:6�;��

&�+� l&�G .� �v$%�� �
�18C ��9� �=w8 K�>����� �	>s�� O� �6�?; O ¥�G �
��, F��9� �$8�9��� �:6�;�� �
<�� �&=>��
 ����
��(12) .K�6�?;!� ����	�� ��$>�� ��=\� EB �
�18^� ��9>�� �4� �s� z�� K e���8X� u>  µ8 �V��$� ���D��

PEB(e.i.r.p.excess)  ����
�� c� cn'� x���� O �&���� �v9�� �!" K	?�H X K��1>�� -��$�(13).  
 5;<�� g�D�6  O FyN�� i$sh��� �6�?� �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. ( ��9>�� e�?� u$>v�� =D=���� �G �!"

 ����
�� O �@	
��(12) $.�� B�*GH f�
$�E� c;n �${�
���� - . T$� ���?��α T$� ��s�&� 5��>D Kc  O o�H B�*GH
 ��s·� ���Dy WC S��$E �4,� -$.���� �6�?� �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. (=D=���� �G �!" . c� �	D ����

 O �̀s$s� �̀r$s¶ �&�	r�� �r�>� K5;<�� �4, �6�?� �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. ( 5$�E �!" =D=���� �G �!"
�
���� -$.�� B�*GH f���8� . i$sh��� �4, ª!�D�dB 0,9  e�8 Oα = 1,5 �c = º0,2 i$sh��� ����D� K[��8 WC  

1,45 dB  e�8 Oα = 1,5 �c = º0,35.  
   

1857-05
�	
� ���
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<��¤ 5;6 

 �������	 �
����	 �
��	 �����	 ����, - /�0�12 ��*!0�	 %0��3)e.i.r.p. (4����� ������	 �� ���  
%5�6���	 %7���8	 9�����; Pmax (EIRPexcess)  ��+�
�	 -(12)  

  

  

7  �������	 �
����	 �
��	 �����	 ����� ������ ������ �����)e.i.r.p. ( ���!��	 "# $�%
�������	 �
����	 �
��	 �����	 ����� &% '���	 * �+�,�-	 .�����/ 0	1��2�  

 F����X� =D=v�� �	>s�� 34, O f�!EH �*
D� �v$%���� �
�18^� ��9>��� �6�?; &�+� l&�G �$8�9��� �:6�;�� �
<�� �&=>��
 ����
�� O �=+�(12)  �	>s�� O5. � ��1>�� ��$>�� f��8 �$s$� f�!E'� c@$�D K=D=v��� -.� �!"� �6�?; �
<�� �&=>��

�!" �$8�9��� �:6�;�� ]����� ��s�&X� zD��y O B�*G'� c� �9$
� �"��d ��.�� K�
���� F��9� =D=���� �G .
��H [���� �v9�� �!" �V6 �v$%���� f�!E'�:  

1.7 ����� ��	
�  

 H (   K]����� ��s�&X� zD��y B�*G' �$!$?a �9$" T$�)(mεφ K)(m
a

φ �...,,2,1 Mm = �$8 KM  �,
�9$
�� TU8 . �V1
�1G -��<�� ��~�� ��9$" c� �"��d ����$� �H �!
s�� ]���� O ��E�$� u6��� ZH T$>�� 34� �A�9D�

��	*�� �V$!" 5�
D ZH ����wD z�� L!� �� .{ �D�s;�� -$6 �� �̀~�� �9$
�� TU8 Z�;D ZH �	�swD� ��$�;�� Z�;� �$
���!*�� �$
�18^� T$>!� e�>
� =8 WC �=$. ��	D=>� ��9$
�� 34, F�=h�E�� ����+� �$
�18^�.  

f(  f�!*�� 5���!� ]����� ��s�&X� ��D��y KScD��	��� ��V$�C ��	wD� K 
S

a �
S

ε K[����� �!" .�*
��  ��D��y
 3�QX� O ]����� ��s�&X�Sϕ cD��	��� 

S
a �S

ε [����� �!" . 5;<�� g�D�2  g�*>9!� ��9�� �E=9�� �%�����S �Sϕ .
 �>� �9,�Sϕ  �D����� ��H K�&'� WC ���9��� 	>���� &�=�� �!" �*>� SH Oϕ �~A�� �V6.  

l(   K�
��V!� �@$>�� x�;�� �*�G(ϕ) �$8 Kϕ  �*� ZH �	�swD K�$%���� ��	�'� K&�+� l&�G �D����� �,
3=D=�� �G 3�Q� e�8 	��9�� �
���� ��
pC.  

� (  � �
�18C ��9� �6�?; �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. ( ����
�� O ��� &�+� l&�G(12).  

1857-06
c)��������( 
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2.7  �������� 	
����� 
��� �
���)CDF ( ��������)(
ϕ

θBSG  

 ,(  H F�=h�E��  (�f ( ��,�Q�� =D=���� �G �� ��s�&X� �D��y ���d x�vwD K3N"HSϕ K+
ϕ

ε
BS

 j	6 x�vwD� b
 K��,�QX� 34, O ]����� ��s�&X� �D��y−

ϕBS
a �−

ϕ
ε
BS

 . ����
�� e��
�E���(5)[���� �v9�� �!" F=>� �� x�vwD K:  

))(()(

))( ()(

))( ()(

maama

mm

mm

aSSBS

SSBS

SSBS

φ−−=

φ−ε+ε=ε

φ−ε−ε=ε

ϕ

ϕ

ϕ

−
ϕ

ε
+

ϕ

ε
−

ϕ

  

 �9$
�� 	p�� �!" ����"X� 	V�D �$8m �̀8�	2 . ZH §8N��)(ma
BS

−
ϕ

 �)(m
BS

+
ϕ

ε �)(m
BS

−
ϕ

ε  l&�G �D���!� e��� �,
 &�+�ϕ.  

� (   ����
�� O 3N"H T$>�� e=���(4)  3�Q�� =D=���� �G g� �D����� f��qSϕ K)(mBSϕ
θ . ����
�� c��(4):  

( )
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛
×ε+ε−ε=θ

−
ϕ−

ϕ
+

ϕ
−

ϕ
−

ϕ
2

)(
sin )(cos)(cos )(coscos)( 21

ma

mmmm
BS

BSBSBSBS

 

 y(  l �	>s�� O �
���� x�� �*� e��
�E��� (�)(mBSϕ
θ  3�QX� O �
���� x�� �=� K3N"H ����+�Sϕ K

))(( mG BSϕ
θ Z�� �̀�!" b))(( mG BSϕ

θ  �,�=" ��9$" �M �̀$
��<" �̀	@$A�� o�
wD ZH c;nM ���� �,� K&�+� l&�G �D���!� ϕ.  
|(   ����	��� �Dy���� ���� &=>��)CDF ( cD~A��!�)(

ϕ
θBSG �)( ϕθBSGF  �,�=" ��9$" e��
�E��M  O ����R

y �	>s�� .( ZH ���)( ϕθBSGF �D���!� ���� �, ϕ ~A��� T$� c� 5;� ����	��� �Dy���� ���� f��8 g
�D -�H §8N� Kϕ.  

3.7  ������� 	
���
 �����
 ����BE ����
 � ������
 ������� ����� !�
  

¢(   &��· �&=>!� ��E�9�� T$>��EIRPexcess K1 ≤ EIRPexcess ≤ 10 �EB, (EB,max – ΔEB) ≤ EB ≤ EB,max e��
�E��� K �Dy���� ����
| �	>s�� O �&=>�� ����	��� ( ����
�� O e���8X� �=�(8)  T$� c� 5;�ϕ . �9,�maxBE ,

  ��1>�� �6�?;�� �, �
<�� �&=>!�
 �$8�9��� �:6�;��)e.i.r.p. ( 5?a� K�
���� -$.�� B�*GH f�$� O =D=���� �G �!"ΔEB  �:6�;�� �
<�� �&=>�� �6�?� O ��s·X�

 �$8�9���)e.i.r.p. ( ��r� �$v$%�� ��	�'� b�
���� -$.�� B�*GH 5
s� =D=���� �G �!"ΔEB  =9"2
,maxBEΔ.  

 ����
�� ZH 	�4��� 	D=.�(8)  T$� �$�� ��=\ ZH �A�9DEIRPexcess �EB ZH T!w" �MC c;�� bF���,X�� 	}���� z��  ��s·X�
 T$� �=� c� =q� uD	� c" f��q� �4, �$��� c;n Km$s� �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� OEB . 5;<�� g�D�6 

 ��$� O ��s·X�EB �M B�. z�� ��=+� F��9�� ���!
� �	>s�� O �,	6 . ZJ6 ~A2 ��s·X� �4, ZH �� Ke�?�� 5$�E �!
6
 ��$�ΔEB = 3

,maxBEΔ �!1�� ��M F��9�� ���!
� ��E�9�.  
S(   T$� ���} e�8 OEIRPexcess �EB  e���8X� �=�PEB(e.i.r.p.excess)  �A$1�� e��
�E�� ����
�� O ��&����(10) �,� K

 �	>s�� O f��+� e���8N� ��1>�� ��$>��¢ ( �D����� &���"� �=�ϕ �~A�� .�A$1�� ����� ��
�� PEB(e.i.r.p.excess) 3���H:  

{ } ) / EIRP )(()(Prmax)(EIRP BexcessRefBSexcessE EEGP
B

×ϕ>θ==
ϕ

ϕ  

 e���8X� ZH §8N��PEB(e.i.r.p.excess)  �6�?;!� �1��9�� ~� ���� �,EB ���� o�
wD ��=9" KEB  T$>�EIRPexcess ����?��.  
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k(   �6�?;!� ��1>�� ��$>�� ��=\ K�̀~GH�EB  e���8X� �5>D �${PEB(e.i.r.p.excess)  ����
�� O e�?�� ��9� c"(12)  �$��
 �&=>!� F���,X� �	
�� O �
����� T$>��EIRPexcess . �!� MC� �6�?;!� ���!*�� ���$>��EB  ����
��(13)�V����� ��
� K [���� �v9�� �!":  

10EIRP1))(EIRPlog(10)(EIRPmax  10 ≤≤×≤ excessexcessexcessE
E

PP
B

B  

 ��$� f��q =$8��� f�!E'� -�H �!" 	�sD XH �A�9D� �>6 �$%���� ��	�' 	��M 3N"H f�!E'� ZH 	�4��� 	D=.�EB.  
  
  

������  

 T!>�CHEN, C.-C �GARDNER C.S. K] �&��1989 [ �N2� T$�1� �!" �$
��<
�� ������� -$.���� B�*GH ~}��
 K5������ g� �� �;E����� ~�� �;E����� �D	1��� �X�1�X���� ����	
��
� ������� ���� ������ ����
��


)IEEE (������� ���	 . Z�=!P�37 �3��vs1�� K :260-252.  
 T!>�CORRELL, C. K[1996]  c" �Y�9�� ������� -$.���� B�*GH &�}� m1D �%�D& lM�t"�$;$��;$�� B�%�r�� " �N2� O

 K5������ g� �� �;E����� �D	1��� �X�1�X�������
� �����!
 ��
��
� ��"� .=!P� 14��vs1�� K :51-37.  
 T!>�MARAL, G. �BOUSQUET M K[2000] ������
� ������� �#$�% :��&'
'���
�� ����*�
�� �#$�+� 	<� &�� K

John Wiley & Sons.  
 T!>�SAMORODNITSKY, G �TAQQU M.S. K[1994] ,
*���� ���'-
� ./ ����'��
� ����#�
� : ����'��
� 01�#�
�

2��3 � '4 5�6 ,.-��� . 	<� &��Chapman & Hall/CRC.  
 T!>�SHAO, M. �NIKIAS C.L K] �$��D1993 [��rsh9�� ���	�� c� �D	�� F��
� �&�p^� ���
 : �	>���� ��$!�
��

���>$�*�� . ����
��
��� ����	
��
� ������� ���� ������)IEEE( . Z�=!P�81 �7 K��vs1�� :1010-986.  
   



�������  ITU-R  S.1857  

  

16

 ��	��2 

������  �	
��
 ����� ������� � �
����
 �� �����
 ��

��
 ������� ������ �!"#

 ��$���#
 �%��&#
)e.i.r.p. ('�����
 *�+�, �!-. ��/	0
 ��+123� 	�4
 5	��  

��6�7� 83� �69�7#
 �:�#
 ��7$ �� �;���
  

1 
��
� 

 �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� ����� ]���� &�	� ~A�D)e.i.r.p. ( ��19� �!" ��#�	�� mD&�*�� c� &�+� l&�G
�&'� WC ���9��� �	>���� �&��P� 5������ O ]���� &�	� ~A�� 5G�=� �&�pC WC �̀$��� L�M S��$E� K����	� . �4, 	6�D�

�	� �!" ��#�	�� �$%&'� ��*+� c" T.�9�� ]���� &�	� ~A��� 5G�=��� 5$!v�� �$UV9� uv!��-�$�� =D=v��� ��� . =��
 �$2���� ]���9�ITU-R S.1323 ]���� &�	� ~A�� &��1� c� 5G�=��� &�}� �v���� . �$9���� �!V�� �̀rDH �$2���� �r��

�8����� ��1>�� ~1>�� �=�� �!" 5G�=��� ��D���� . �$2���� O �"�%��� �$V$.���� ¹����� uv!�� �4, ���D�
ITU-R S.1323 �rD�  �!" ����	�� mD&�*�!� ]���� &�	� �~A��� �
���� -$.�� B�*GH c" T.�9�� 5G�=��� 5$!v�� �$UV9�

����	� . �G �!" �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� �6�?;� xE�9�� ������ =D=\ O ��=>�� �$UV9�� c� ��s��$E�
���� &=>��� F��!� �${ mD&�*�� 34� =D=���� �s!�h�� B��'� ��=,H �!�� �	G'� �$!����� ����'� �!" 5G�=��� c� |�

����'� L!��.  

2 ������� ���
� �����  

�	G'� ����'� c� 3�	D S4�� 5G�=��� �!" TE�8 5;<� �$!����� ����?�� ��=/� F��� B��H =��
D . �$2���� 0h!��
ITU-R S.1432 ����9� z�� �s!�h�� ��&���"X�5G�=��� Z�<� �	G'� ��$2���� �V . O ��=h���� 5G�=��� ~D�
� =9����

 c���� c� �!D�� ��	�6 �=� �!" -!�\ c;n S4�� 5G�=��� &�=>� WC �D�D��	�� �X�1�X� ��*� �!1�� ��M ��$2���� L!�
�~1� �$9�y ��	�6 eNG L�4�� .�*�� �=�� &�$
� ~D�
�� c� e�'� ��9�� �	
D� �!" x�vwD 5G�=��� �E��� Z' 5D

�D�s;�� -$6 �� �!D�� �$9�y �	�6 �=� . �V$6 ~A�D �~1� �$9�y ��	�6 �!" 5G�=��� &�=>� �=v$6 ~D�
�� c� 	G¨� ��9�� ��H
�X���8N� �Dy��� 5#?n �V6 « c�� K]���� &�	� �̀��" 5G�=��� . 

 �$2���� e��9���ITU-R S.1323 =��� ��~}�� ]���� &�	� �~A��� 5G� 5G�=�!� -� |����� �1�'� =q� ��D���� �=\�
�s!�� &��1� c� .��=R �12�R �$2���� L!� O =.�� X c;�� O �$!����� ����?�� ��=/� ��;�<� �!2��� 	6�� F=
� 

 c" T.�9�� ]���� &�	� ~A��� 5G�=���	� �!" ��#�	�� �$%&'� ��*+� mD&�*� ����(VMES)  ���9��� 	>���� &�=�� O
�&'� WC .e�?�� 5$�E �!" �*
� ��$� �	d �V6 5G�=��� �4, B�	. �!2��� -$6 	6��� X S4�� ]���� �!V� ��H . T��� MC

1�X� ��*>� ��$2�� -���9�� ����8 �H ��&��^� g� -$!" us�wD ����8 �12�R SH 5�
��w� �${ ���	��� �$UV9�� �X�
5�>���� O �D�D��	�� . �XN�G� f��8 x�  ��� �!2� ±��� 5����� �!2� T��1w� ZH �, �E�E'� ��	�6X��

 ��;�<�� c� �=�� �!D�� 5G�=��� &�}�� e��>�EX� y�V. B�%�% ��~A�� 	*�� 5
s� �&�p^� ��G 5$�� c� &�<��X�
�	G'� �$!����� . &�,=��� -.�H ~}�� f���8X� O �*/� e=
� 5*
��� T$� ��X=� �$!����� �!2��� B��H ��=,H ��=\ K34,

 B�%�r�� WC �!��q� �.��� �&=� ���9� �H ������(C/N) . �!��q� �.��� �&=� x�� c� �9$
� �"��d O Ke�?�� 5$�E �!
6
 B�%�r�� WC(C/N)  5*
��� ]�� �!V� l��yH c� �V!��>D ���{(C/N)i,, pi %}, i = 1,2,…I �5>� ZH �A�9D K �.��� �&=� ����

 c" B�%�r�� WC �!��q�(C/N)i  �D�:� ���9�%pi  �̀	18 ]���� c�)	Vp SH O.(  
 �$2��!� �̀>6��ITU-R S.1323 c� 	?��� &�<��� &�}� x���� XH �A�9D K%90 �!2��� 	6�� F=" c� . ���"C c;n K[������

 �!" 3N"H 	��M �� ���$2[���� �v9�� : ���� �5>� ZH �A�9D(C/N)  ���� c" ]���� &�	� ~A��� 5G�=��� f�$� O ����+�
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(C/N)i  T�
� O%pi × %90 ]���� c� . ���� ��H%10  O�%^� &�,=�!� 01hw�6 K�!2��� 	6�� F=" ]�� �!V� c� �$�����
 O �!��
�� �	G'� �$!����� ��;�<�� �$�� �$
�rs��� �$%&'� �*+� �� 5
s� ]���� &�	� ~A��� 5G�=��� c" T.�9��

-�s� S��	��� j�*9�� . ���� �5>� ZH �A�9D K[������(C/N) �� ��.�� ����+� �$��Y^� ���� c" ]���� &�	� ~A��� 5G�=�
(C/N)i  O%pi × %90 B�r��X� x�8 K�̀	18 ]���� c�.  

]���� &�	� �~A��� �
���� -$.�� B�*GH 5
s� �&��P� �$!����� ����'� �!" 5G�=��� O ���D��� �>$}��� 34, e��9��� . 4G���
0
�1G SM ��	*� WC ���9��� 5G�=��� O ���D��� 34, �
���� -$.�� B�*GH f�$A�� �9��E �:$� O 5�
D -9;�� �!}�£ .

 �$8�9��� �:6�;�� �
<�� �&=>�� �� ��9>� F��!D ��	*�� ZH �9����� ���q� 34, O �	�swD�)e.i.r.p. ( O �E��� &�+� l&�G
 �$2����ITU-R S.728 5G�=���� �>!
��� �=D=
�� ���!*���� �sD� !" ¥�19����!1�� ��M ��$2���� O �V$ . =D=\ c;n�

 &�	� �~A��� �
���� -$.�� B�*GH c" T.�9�� 5G�=��� �E��� f��8 uD	� c" 5D�*�� �=�� �!" 5G�=��� O ���D���
 �	�6 eNG ]����Tavg �9����� ���q� O �	��9�� �V��$� �� �U$�9�� 34, ��&�>�� ." 5G�=��� ��!
� 5?a ZH �A�9D� �=�� �!

 K5D�*��Tavg5G�=��� �&�p^ ]���� &�	� ��$��� ��~A��� S�\ �${ �D�s;�� -$6 �� �!D�� �	�6 K . c;n K���q� 34, O�
 �$8�9��� �:6�;�� �
<�� �&=>�� �6�?;�)e.i.r.p. (5G�=��� ����� O T;v�� ZH ��	*�!� =D=���� �G �!" . �	� ��E�

 �$UV9�� 34, 5$2�s� �	>s�� O4.  
�������  �$2���� O ��&���� �$UV9�� e��
�E� c;n K5.'� �~1>�� ��=,'�ITU-R S.1323.  �&�p^� &=Q KL�M ���

 &�=�� ~� O ����H c" �̀Y�� ]���� &�	� ~A��� 5G�=��� �V$6 Z�;D z�� ���v!� �̀1$1G ]
%w� =� �$2���� 34, ZH WC
 WC ���9��� 	>�����&'� . ��8N��� L�M =²��D�1  -���� �� Z�� =$s� z�� �$2���� 34, O%10  �!2��� 5*
� �X�8 c�

 ����H g� 5G�=��� �!" S	�D X K3N"H 	��M ��� K5G�=��� &��1� 5
s��&'� WC ���9��� �	>���� �$!����� ����?�� ��=/� .
 5G�=��� e��9�� �>$}��� 34, ZH ��� KL�4��c" T.�9��  ����H �!V� ZJ6 K�&'� WC ���9��� �	>���� �$!����� ����?�� ��=/�

 ��!
��� 5#?��E ]���� &�	� ~A��� 5G�=��� O �!2��� 5*
�� �11h�� ]����%Tallow  ���� c� X̀=�%10  O �&��4��
 �$2����ITU-R S.1323 .WC �>$}��� 34, �=�� �� 5G�=��� &�}� T$$>� z�� �9����� ���q�� u!
�D ��$6 ]���� &�	� ~A�

 f�$� O 5G�=���� &�<��X� ��~}��	
��� 
��� ������ ������ ����� �����.  

��!"� #$%& �9����� ����q�  '�!���� ('��)�]���� &�	� ~A��� 5G�=��� &�}� T$$>�� . O �!��>�� �$
.	�� ���q� ZH §8N��
�$2���� ITU-R S.1323 x�v6 &�<��X� &�}� c" �̀Y�� &�,=��� Z�;D ��=9" �,.  Z�;� Z' B��'� �=VD K4
=9"�

 ���9� �"y�� �9����� ���q� O �!2��� 5*
� �X�8%(100 – Tallow) 	D=>� 	?�H �!" ]���� �!V� c� . �A$1�� F�=h�E���
 ���� �5>� ZH �A�9D K�>�����(C/N)�}� c� ����+� K ���� c" K�9����� ���q� O 5G�=���� &�<��X� &(C/N)i T�
�  

%pi × %(100 – Tallow) ]���� c� . ���� �5>� K[������(C/N)  &�	� ~A�� �
���� -$.�� O B�*GH ��.�� ����+� K�$��Y^�
 ���� c" K&�<��X� &�}� ��.��� ]����(C/N)i  eNG%pi × %(100 – Tallow) B�r��X� x�8 K]���� c� . O ���� ���8

 �$8�9��� �:6�;�� �
<�� �&=>�� �6�?;� c;n K5D�*�� �=�� �!" 5G�=���)e.i.r.p. ( O T;v�� ZH ��	*�!� =D=���� �G �!"
�!2��� 5*
� . �	>s�� O x���� 34, 5$2�s� �	� ��E�4.  

3 ������� ��	��� ������ ����� 

 �	>s�� 34, F=>��$����� �X��
�� O ��=h���� y��	��� ���!
�� �	��� K5G�=��� T$$>�� 5�
��wD �̀$
.	� �̀&��C.  
 5;<�� �%�D�7 �!G�=���� ���!*�� �$!����� ��;�<�� . ��	��� f�!*�� 5����� WC ��	wD�S1  e�E&º� -$6�	*� WC�

 cD��	��� e��>�EX��T1 �R1 [����� �!" .� ��	*�� ��H �V6 5G�=��T2  �, ��1>�� -!��E�S2.  e��>�EX� y�V. 5�>��D�
	}���� R1  g!����� N� c� �&�p^�S1 �S2 �v9�� �!"  5;<�� O g���7.  
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<��¤ 5;7 

��������	 �
����� �
������ ������� . ������� ���T1 	R1 	S1  
��
����� ������ �  ������ ���	T2  ������	S2 ��!������ ������ �  

  

�$2���� 34, O �=��"� z�� y��	��� ���!
�� ��
�� �!D ��$6�. 
  ϕ:   c� &�+� l&�G �D�����T2  WCS1 �
���� -$.�� B�*GH f�$� O  
  θ:   c� &�+� l&�G �D�����R1  WCS2  
  A↑:   c� �="�1�� �!2��� O 	*�� 5
s� ��/�T1  WCS1  
  A↓:   c� �*���� �!2��� O 	*�� 5
s� ��/�S1  WCR1  
  A↑,Ι :   5G�=��� &=1� c� �="�1�� �!2��� O 	*�� 5
s� ��/�T2  WCS1  �HS2   

  Bs:   �$8�9��� �:6�;�� �
<�� �&=>�� �6�?�)e.i.r.p. ((W/Hz)  K�9����� ���q� O =D=���� �G 3�Q� O
 f�$� O ��$>�� �,� ����� ��	
� � 
���� ���� ������ ������T2 . �� ��� �!�"��� #
�

$�%�� � ������ &"' ��( )�*! +,�� $�-/�  
  Bt:   �$8�9��� �:6�;�� �
<�� �&=>�� �6�?�)e.i.r.p. ((W/Hz) =D=���� �G 3�Q� O  �T2 ��.��  ��	
�

 0123�� $,� )45 6�127 8
���� ���� ������ ������ ����� 95�;�EB  0�<�3�� �(3)  
  ΔB:   �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� O ��s·X�)e.i.r.p. ((W/Hz)  K=D=���� �G �!"  

ΔB = Bs /Bt
  

  (C/N)cs:   O B�%�r�� WC �!��q� �.��� �&=� ����R1 �$6�2 B�¯ ��	� O . �$8C  �.��� �&=� �,
 O �!�>���� ���!*�� �!��q�R1  c�T1  

  (C/N)s:   ����(C/N)  OR1  c� 5G�=���� 	*�� 5
s� ��/� c" �Y�9��� K�9����� ���q� OT2  f�$� O

���� ���� ������ ������ ����� ��	
�  

  (C/N)t:   ����(C/N)  OR1  c� 5G�=���� 	*�� 5
s� ��/� c" �Y�9��T2  x��� ������ ����� ��	
�
 ���� ������
����  

  G1(θ):   ����� =>�;�� ���-/� &"*��R1  3�Q� Oθ  &�+� l&�G)G1 (0) = 1(  
  G2(ϕ):   �
��� �@$>�� �,�QX� x�;��T2  3�Q� Oϕ &�+� l&�G)G2 (0) = 1( ��!
�� 34, Z�� �̀�!" b

 5��>�G(φ)  ����
�� O(2)  uv!�� O1  
  G2,t(ϕ):  �@$>�� �,�QX� x�;��  �
���T2  3�Q� Oϕ ]���� &�	� �~A��� �
���� -$.�� B�*GH ��.�� 

1857-07

A↑, I

A↓

S2S1

I
s, 1

T2
T1

R1

I
s, 2

A↑
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  GS1:   O ~A1�� �&�p^� x��S1) . O �$8�9��� �:6�;�� �
<�� �&=>��S1  ��R1) = ( �&=>�� u6=� �6�?�

 c�T2 (× 
π

λ
4

2

 ×  �="�1�� �!2��� �.�� e��λ KGS1  

  GS 2:   O ~A1�� �&�p^� x��S2) . O �$8�9��� �:6�;�� �
<�� �&=>��S2  ��R1) = ( �&=>�� u6=� �6�?�

 c�T2 (× 
π

λ
4

2

 ×  �="�1�� �!2��� �.�� e��λ KGS2  
  (G/T)1:   O e��>�EX� ���8 O B�%�r�� �&�	8 WC �
���� x�� ����R1  
  (G/T)S1:   O e��>�EX� ���8 O B�%�r�� �&�	8 WC �
���� x�� ����S1  �� e��>�EX� 3�Q� Z�;D ��=9"T2  
  (G/T)S2:   O e��>�EX� ���8 O B�%�r�� �&�	8 WC �
���� x�� ����S2

 

 �� e��>�EX� 3�Q� Z�;D ��=9"T2  
  Is,1:   c� �&��1�� 5G�=��� �&=�T2  O �!��>�����R1  o"S1 f�$� O K ������ ������ ����� ��	
�


���� ����  
  Is,2:   c� �&��1�� 5G�=��� �&=�T2  O �!��>�����R1  o"S2 f�$� O K ������ ������ ����� ��	
�


���� ����  
  It,1:   c� �&��1�� 5G�=��� �&=�T2  O �!��>�����R1  o"S1 ��.�� K��	
�  ���� ������ ������ �����


����  
  It,2:   c� �&��1�� 5G�=��� �&=�T2  O �!��>�����R1  o"S2 ��.�� K ���� ������ ������ ����� ��	
�


����  
  k:   )�?@���5 
5�A)Boltzmann( D1,38 × 10–23 J/K  

  log(X):  log10(X)  
  Lu:   �="�1�� �!2��� �&��G)�$6�2 B�¯ ( c�T2  WCS1  �HS2  
  Ld:   �*���� �!2��� �&��G)�$6�2 B�¯ ( c�S1  �HS2  WCR1  
  N↓:   O e��>�EX� =9" B�%�r�� �&=�R1 B�%�r�� �&�	8 �V!��>�� KT↓  
  N↑:   c� B�%�r�� �&=�S1  O �!��>����R1  

  :   c� B�%�r�� �&=�S2  O �!��>����R1  
  Nr:   	*�� B�%�%)B����� ( e��>�EX� y�V. OR1  	*�� �&�	8 c" �Y�9��Tr )�*���� �!2���(  

  pX (x):   �X���8� �6�?� ����(pdf)  ~A���X  
  PX (x)  = Pr{X ≤ x):   ����	��� �Dy���� ����(cdf)  ~A��!�X  

  X:   �=8�� -9" 	��
D ~A��dB K10 log10 X  
  X:   �
��<
�� ~A��� ��$� �E���X  

  Zs:  Zs  =
s

cs

NC

NC

)/(

)/( ���� &�,=� K(C/N)  ��	*�� c� c����� 5G�=���� 	*�� 5
s� ��/� &�}� c�T2  

  Zt:  Zt  =
t

cs

NC

NC

)/(

)/( ���� &�,=� K(C/N)  c� ]���� &�	� ~A��� 5G�=���� 	*�� 5
s� ��/� &�}� c�
 ��	*��T2.  

N↑,2
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4 ����� ��	� 
�� 
������ ���� : ������� �� ������ ���	� ���! ��"�#(C/N)  

 �	>s�� 34, x�\&�,=�  B�%�r�� WC �!��q� �.��� ����(C/N)  OR1  5
s� ��/� B�	. c� c� 5G�=���� 	*��
��	*�� T2 . ���� �!" �$
�18C ��~$A� �9, -$6 	�9wD S4�� 	*�� 5
s� ��/� 5»G=w$E�(C/N) �!��>����2 . O X̀�H 	�9wD�

 ��	*�� c� 5G�=���� 	*�� 5
s� ��/�T2  f�$� O ���� ���	 
��
�� �	�� ������ ���
�� ���
� ���!" ����
 ����	��� �Dy����(cdf)  ~A��!�Zs  &�,=� �,� B�%�r�� WC �!��q� �.��� ����(C/N)  OR1 . O L�M �{ �	D�

�	>s�� 1.4.  e��9� S	´ « # ��
�� �	�� ������ ���
�� ���
� ���!"T2 $%&'	 
 ����	��� �Dy���� ���� ©��9�� &�,=�!�
 O B�%�r�� WC �!��q� �.��� ����(C/N)  OR1  ��	��� -$�C ��	wD S4��Zt .e��� 5�
��w� «  34, ����	��� �Dy���� f��q

x��� 	6���� F=" O �$��9�� ���D��� ��
�� �	�� ������ ���
�� ���
� ���!".  �	>s�� O L�M �{ �	D�2.4.  
�̀	18 &��d 5��E c� 5G�=�!� �	
�D 	}���� e��>�EX� y�V. ZH �	>s�� 34, O �&���� 5$!v��� �	�sD� . 5�Vw� ¼ ZJ6

�!}�£ �>D	*� �����8� �A�9D K�	GH �&��d 5���E c� ��&���� 5G�=��� ��&�pC.  

1.4 ������� ���	� :
���
  ������T2 ����� ������ ����� ����� !��" #$%��� �&�' (  

(�)�  B�%�r�� WC �!��q� �.��� ����(C/N) e��>�EX� y�V. OR1  *+,�� # ��-�/�� 0�1����� 0+2,1�1 �13 �45:  

2,2,1,

)/(
↑↑↓ ++++

=
NIINN

C
NC

SS

CS
  (14)  

 K�9, 5G�=��� ��&��" ��
��Is,1 �Is,2 ��	*�� e�E&C WC KT2  =D=���� �G �!" �$8�9�� �:6�;� �
<� �&=� �6�?;�Bs O 
SH K�9����� ���q�  f�$� O��
�� �	�� ������ ���
�� ���
� ���!" . 6
+3 �7&89	 ��	*��T2  ;+< 
0=�>�� ��?

 ���@�A 6BC D���EF�Bs  G�8HC IJ�13 �$8�9��� �:6�;�� �
<�� �&=>��)e.i.r.p. ( �$2���� O �&���� &�+� l&�G
ITU-R S.728 �!1�� ��M 5G�=���� �$9
�� ��$2���� O� . ����
�� O 	�4��� 	D=.�(14)  �&��
�� ZHN↑ + Is,1  c� ½��S1 

 �&��
�� ZH�Is,2 + N↑,2  c� ½��S2 . ���� Z�;� K���!*�� �&�pº� �*����� �="�1�� g�!2��� O 	*�� 5
s� ��/� ��.���
(C/N) [���� �v9�� �!":  

↓↑↓↑↓↓↑↓

↓↑
++++

=
ANAAIIANANN

AAC
NC

ISSr

S

2,,2,1,  ) ()()1 –(1

/
)/(  (15)  

 g!����� ZH �9, �	�swD�S1 �S2  �!2��� O 	*�� 5
s� ��/� ����;� �̀�D	>� 5}���� �${ �̀=. ��D	� �6��� ��V!1s�
 c� �="�1��T2 g!����� cD4� . c� 	*�� 5
s� ��/� ����;� 5}�a �̀rDH �	�swD�S1 �S2  WCR1 . 34, �1� X =��

 g!����� g� 51s� ¼ ZC ��%�	�6X�S1 �S2 ��D	� �6��� . ��/� ����;� ¢���&� 4G�D ZH �A�9D K�X�q� 34, 5?� �s6
�!" b&���"X� O ��V9� 5;� �&��" Z�� �̀Nr (1 – 1 / A↓), (A↓ ≥ 1)  y�V. O �$6�%^� B�%�r�� WC ��	� l	h�� O
 K	*�� �&�	8 B�	. e��>�EX�Tr.  

 ���� O �.�	��� c" ~�
��� c;n L�M c��(C/N) [���� �v9�� �!" �*����� �="�1�� g�!2��� O 	*�� 5
s� ��G ��.��:  

)()/( 321 ddAdAAAAZ
I,I,I,s ++×= ↑↑↓↑↑  (16)  

____________________ 

2  ������� �	� 
�� 
���� ������ � ��� ����� 
���� �������� �!���� "#$%� . 
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 �!2��� ��~A�� ��	
w� �$8c1 �c2 �c3 �c4 �c5 �d1 �d2 �d3 [���� �v9�� �!": 

  

c
1

=
I
s,2

I
s,1

;  c
2

=
I
s,1

N↑

;  c
3

=
N↑

N↓

;  c
4

=
N

r

N↓

;  c
5

=
N↑,2

I
s,2

d
1

=
1+ c

4

1+ c
1
c
2
c
3
(1+ c

5
) + c

2
c
3

+ c
3

d
2

=
c
1
c
2
c
3
c
5

+ c
3

− c
4

1+ c
1
c
2
c
3
(1+ c

5
) + c

2
c
3

+ c
3

d
3

=
c
1
c
2
c
3

+ c
2
c
3

1+ c
1
c
2
c
3
(1+ c

5
) + c

2
c
3

+ c
3

.

  (17)  

�!2��� ��~A�� c� �9$
� �"��P ��~A��� 34, =D=\ c;n� .�V9� =D=v��� -.� �!"�:  

22

5

4

1

11

3

12
2

1

1

2

2

2

2
1

)/()0(

)/(

)/(

)/()(

)0(

)(

)(

(0)

Ss

u

r

dS

S

u

Ss

S

S

TGGB

Lk
c

T

T
c

LTG

GTG
c

Lk

TGGB
c

G

G

G

G

G

G
c

=

=

=

ϕ=

θ
ϕ

=

↓

  (18)  

 c� �="�1�� �!2��� O &�<��X� 	
��G 5}�a Kª$1!� �̀*$��� K�	�swD �$8T2  g!����� WCS1 �S2  5
s� ��/� f�$� O
	*�� . g!����� c� �*���� �!2��� O &�<��X� 	
��/ 5}�£ ��	�6� �	�swD�S1 �S2  WCR1. 

 T�D&���� ��4GH �MC�Zs ��
�� O ��(16):  

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛
+++= ↑↑↓

↑↑

+
32

10/
)(

1

10/
) (

,,

,

1010log10– dddAAZ
II

Is

AAA

  (19)  

 =D=\ 5VE'� c�� ����	��� �Dy���� ����(cdf)  ���=!�ZS �!2��� O 	*�� 5
s� ��/� Z�;� 5,�U�wD z�� �2�/� ���q� O
 �="�1��

  
A↑, I SH KA↑, I = 0�!$!v��� �$���!� �̀$G�� XC &���"X� O 4G�� X �2�/� ���q� 34, Z�� �̀�!" K . 34, O�

 c" ~�
��� c;n K���q� �.�	�!� ����	��� �Dy���� ����[���� �v9�� �!":  

uvvpupZP
AR As

z

s
dd)()()z(Pr)z(

↑↓∫∫=≤=
  

 ���=�� u>\ �${ �V6 5��;��� �>*9� ��HZS  �v.�	���Z S ≤ z  5.H c�A↓, A↑ ∈Rz . ZH 3N"H �	�swD�  
 	*�� 5
s� ��/� ��;�A↑ �A↓   	G¨� c" ��Vr
� ZN>��� .  
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 ZH ���ZS  ����	� �=D���� ���� �,��/� zv.�	��  
)0(≥↓A �)0(≥↑A g�v.�	���� ���=+� �>*9�� �IH �!" �>*9�� c" ~�
��� c;n 
)(10log100 321

10
ddd–zA

/A ++≤≤ ↓
↑

 �) / )––((10log100
132

10/
dddA

z≤≤ ↓.  
[���� �v9�� �!" 3N"H 5��;��� T�$>wD�:  

udddzpup

uvvpup

uvvpupp

u

A

u

u A

dddzu

v A

u

u A

AR As

u

z

d))log(10 10 –()(

dd)()(

dd)( )()z(

321
/10

0

 )log(1010–

00

321

10/

++=

=

=

↑↓

↑↓

↑↓

∫

∫∫

∫∫

′

=

++=

=

′

=
  (20)  

 �$8). /)––((10log10 132

10/ 
dddu

z=′.  
2.4  ������ ��	
�T2 �
��� 
��� ������ ������ ����� ����� !���"  

 5G=w� K���q� 34, O ������ ��	
� � 
���� ��	� ������ ������ ����� ��
!"T2 .��#�� $!�%��� &� %'(�� 
 ��.�� )�*+ ,- /������ ����� � ��
!" �&=>�� �6�?� �$8�9��� �:6�;�� �
<��)e.i.r.p. ( c� =D=���� �G �!"Bs 

 WCBt . ���� l	h��w��(C/N) � 	*�� 5
s� ��G ��.�� 0�1�2�� &� 
���� ��	� ������ ������ ����� ��
!"(2)  �!"
[���� �v9��:  

↓↑↓↑↓↓↑↓

↓↑
+++++

=
ANAAIIANANN

AAC
NC

Ittr

t

2,,2,1, ) () ()1 – (1

/
)/(  (21)  

 5G�=��� ½&��" c" ~�
��� c;n �$8It,1 �It,2 �9����� ���q� O T$� c� ��V!��>D �£ &��;�:  

)0(

)0(

)(

)(

2

2

2

2

2

2

1

1

GB

GB

I

I

GB

GB

I

I

s

t,t

,s

,t

s

t,t

,s

,t

=

ϕ
ϕ

=

  (22)  

 �
���� x�� �!��" �!" e�1q� c;n�G2 �G2,t �
���� x�� �*� �6	
� c� . �*� c" ~�
��� c;n KǸ?�6
[���� �v9�� �!" �@$>�� �
���� x��: 

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

ϕ×λπ

ϕ×λπ+
=ϕ +

+
+

1

1

1

)sin/(

)sin/()!1(2
)(

n

n

n

d

djn
G  (23)  

 �$8ϕ � &�+� l&�G �D����� �,Jn + 1  5�� ���� �,)Bessel ( x$�	���� e�'� ��9�� c�(n + 1)� Kd  �v�s�� 	*� �,
� �D	
�=��λ �.��� e�� �, .�n �$����� �v�s�� ��B�%C 5��>�� K�
���� �v�6 �B�%C ��!
� �, 3N"H :n = 0 ����9� �B�%C K
� K�$��?�n = 1� K�$:6�;� �B�%C Kn = 2�
�	� �$:6�;� �B�%C K . ������ O �v�s�� ����H c� =D=
!� ��$
	�� 0s�� �>D�

�>� ��@$>� x�� ��
pC ��**� g� �� �!�
�� 5�n = 0 �n = 2 . =� �$!�
�� ��$
��V!� �$����� ¥�1s�� ZH 	�4��� 	D=.�
 ����
��� ��=� 5?��� X(23).  
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 ����
�� O 5�
���� �$�	��� u6� K-$.���� B�*GH f�$� O �
���� x�� 5��" Z�;D�(22) KG2 (ϕ) = G (ϕ) . ��.�� ��H
 ��V$�C ��	wD� K]����� ��s�&X� S�*­ �
���� =D=�� �G 3�Q� O B�*G'� 0$h<� c;�$6 K�
���� -$.�� O B�*GH

 cD��	���φε �φa [����� �!".  3�Q� g� �D����� �,� KS����� f�!*�� �*/� c" ~�
��� c;n « �
���� =D=�� �G 3�QX��
 c�T2  ��S1 ���=� KΦ(ϕ, φε, φa)  �	>s�� O �%��� �v9�� �!" g
� �E=9, �%�a c� �,=D=\ c;n z��3 uv!�� c� 1 .

 ����
�� O �
���� x�� 5��" c" ~�
��� Z¨� c;n�(22) [���� �v9�� �!":  

1,
2

1,
)(

11
st
I

GB
I

ϕΔ
≤  (24)  

 ��	*�!� �$�$
	�� ���q� -$.�� B�E B�	. �
���� -$.�� O B�*GH ��.���T2  5����� c" �̀=$
�S2 ZH �r�D KIt,2 < Is,2 .
 5G�=��� WC ���9��� �9����� ���q� O &�,=� c� -!��>D ��" �̀��� �5>D �
���� -$.�� O B�*GH c" T.�9�� &�,=��� ZH SH

 O 5��>����R1  o"S2 . o" 5��>���� 5G�=�!� ���9��� ��HS1c� �r�D K  ����
��(22)  O 5G�=��� Z�;� ��1>�� ��$>�� ¾�!�
G2,t (ϕ) c� 3�QX� �� �=8�� ���>�E� �!" �
���� =D=�� �G Z�;D ��=9" SH KT2  WCS1 . F��� O -�H �!" L�M e=D�

 �&=>� �!"H =8 �%� c;n K�9, -$6 &��9�� g!�����-$.���� �*G �8�=6 c" 	�9�� iA� K]���� &�	� �~A��� 5G�=��� .  
 g����
�� c��(14) �(21) ���� O �.�	��� Z�;D K(C/N) �!D ��� �
���� -$.�� O B�*GH ��.��:  

)/)0( / )(  /()/( 4,23,22,1,,
eBGeBGeAeAAAAZ ttIIIt Δ+Δϕ++×= ↑↑↓↑↑  (25)  

 �!2��� ��~A�� �@	
w� �$8[���� �v9�� �!":  

3325321

321

2

4

3325321

32

2

3

3325321

435321

2

3325321
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  )  (11)0(

1

  )  (11)(

1

  )  (11

  )  (11

1
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 ����
�� c" 	��
D�)25 (���D&���� 5;p O:  

⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛
++++= ΔΔϕ+ ↑↑↓

↑↑ 4
)/10 –)0((

3
)/10 –)((

2
10/

1
)/10(

,2,2,,

,
10101010log10– eeeeAAZ

BGBGAAA

t
ttII

I
  (27)  

 ��=9" �2�/� ���q� O 	�9� K�!$!v��� �$���!� �̀$G��� K�9����� ���q� O ����A↑, I = 0 . ~�
��� c;n K���q� 34, O�
 c" ����	��� �Dy���� ����(cdf)  ���=!�Z

t
 [���� �v9�� �!":  

wvuttpupvpwp

zP

AAt,GR t,G

tt

z

dddd )( )( )()( 

)ZPr( )z(

 )(2 (0)2 ↑↓φ∫=

≤=
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�!D �� u>\ �${ �V6 5��;��� �>*9� ��H :zZRAAGG t
ztt

≤∈ϕ ↑↓ ;,),(),0(
,2,2

 . ��~A��� ZH �9, �	�swD�
 Z�~A��� Z�;D X =� K���
�� ��	��� 5� O -��� �̀�!" b�̀$
�18C �!>��� K�V1¿ ��$6 5� K�$
��<
��Z�$
��<
�� 

)0(و)(
,2,2

ϕ
tt

GG �$
�18^� �$8�9�� c� g!>��� . cD~A��� cD4� k	�<�� �Dy���� O 	�9�� �A�9D K�X�q� 34, 5?� O�
3N"H �A$1�� O g$
��<
�� . ZH ���Z

t
 ��~A��!� ����	� �=D���� ���� �, ↑↓ AAGG

tt
)0,(),(و

,2,2
ϕc;n K  c" ~�
���

[���� �v9�� �!" 3N"H 5��;���:  

wvueeeezp

upvpwpzP

BwBvu
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w Gt
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ddd))101010(log10 –(
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 	6�� F=" 5�U� �̀E�$� ]���� &�	� �~A��� �
���� -$.�� B�*GH B�	. �!2��� 	6�� F=" O �$��9�� ���D��� c" ~�
��� c;n�
 K�!2���  R(z ) (%) [���� �v9�� �!":  

))(–1(

))(–1(–))(–1(
%100)%(

zP

zPzP
zR

t

st×=  (30)  

 ����
�� WC �D���� �<��9�� c� l��9�EX� c;n�(24)  ���=�� ZHP
t
(z )  ���=�� c� o�H Z�;� ZH c;n  

P
s
(z )  o�'� T$>�� O

 ��s·N� .�$����� �v.�	��� �!" �X�q� i
� O L�M S�*9D� :  R(z ) < 0 �:6�;�� �
<�� �&=>�� �6�?� i$sh�� SH K
 �$8�9���)e.i.r.p. ( -$.�� B�*GH f�$� O 5G�=� c� -!��>D �£ 5�H ]���� &�	� ~A��� 5G�=��� 5
. c;n =D=���� �G �!"

]���� &�	� �~A��� �
���� . ���D��� f��q�R(z )  ����
�� O �	� ���(30) �, �!2��� 	6�� F=" 5�d ZH �	�s� K%pi 
 -��$� �� ZH�%(100 – Tallow) c����� 5G�=�!� 0�1¿ �4, 	6���� F=" c� . ��	��� 5� O f�!*�� ��/� ±��, x�vwD�

����
�� c� �4, �!2��� 	6�� F=
� �9����� :( )%100%))(–1( allowis TpzP −×=
∗ �$8 KC 	6�� F=" [�YC Z

 �, ]���� &�	� ~A��� 5G�=��� ��.�� �4, ��/� ±��, O �!2���))(–1(
∗
zP

t
 . F=" O �$��9�� ���D��� 34, f��8 c;n�

 K�4, ��/� ±��, c�% �!2��� 	6��)%(
∗
zR ����
�� O ��&���� �A$1�� e��
�E�� K(30).  

   

 ΔB
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��¤ e�=1 

 	
 ������ �
���
T2  ��R1  

������� 	
���
�� 	�����(GHz) 14,2 

������������� 	����� �	����� 	�����(dB) 207� 205,3 )�����( 
207,2 �205,3 )����( 

����
��� !��"(dBW/Hz/K) 228,6− 

# $%��� ���&'� *�+S1�GS1(dB) 175,2 

(G/T)S1 (dB/K) 2 )�����( 
4 )����( 

	����� 	
���
�� 	�����(GHz) 11,7 

Tr (K) 285 

,� ��-� .��� 	
/����T201S1 °2,22 )�����( 
°2,18 )����( 

  

��¤ e�=2  
���� ���� ������ �
�� �
���
  

 23��S1)4�����
)Eutelsat(W1( °10 5�3�& 

 23��S2  °12 5�3�& 

 23��T1)6���7�� ��8( 9�:�� ;� :°27,765=�>  
?���� ;� :@°15,63 5�3�& 

A�B���T1�CD�� E�F G�
�� ;F�
� H�I(m) 205 

 23��R1)��$���1�J���
( 9�:�� ;� :°40,395=�>  
?���� ;� :°16,425�3�& 

A�B���R1�CD�� E�F G�
�� ;F�
� H�I(m) 527 

 23��T2)�J+�� ������( 9�:�� ;� :°39,85=�>  
?���� ;� :°32,85�3�& 

 23��T2)�����1��
�7�( 9�:�� ;� :°51,55=�>  
?���� ;� :@°0,125�3�& 

A�B���T2�CD�� E�F G�
�� ;F�
� H�I(m) 200 )�����( 
200 )����( 

5 ���� ���	
�� 
����� ���� �� ����  

 �	>s�� O ��&���� �$UV9�� �$%��� f��8 c" X̀�?� �	>s�� 34, F=>�4 . e�=�� �*
D�1  �4, O �!�
���� �!2��� ���!
�
e�?�� . 	*�� g,�� ����;� x�vw��A↑ �A↓ �A↑, I

 �̀>6�  �$2��!�ITU-R P.618  O ��&���� ���!
�� F�=h�E��
e�=�� 2 .s�� ~�� �
��, ��.� �	�swD Ke�?�� �4, O� e��>�EX� ��	*� O �v�R1 . u>  �
���� x�� ZH ���

 �v.�	���G1 (θ) << G1 (0) ��	*�� -!�>��D S4�� 5G�=��� 5��VwD KR1  c�S2  Oe�?�� �4,.  
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 5;<�� g�D�8  ����	��� �Dy���� e���(cdf)  g$
��<
�� cD~A��!�G2,t (0) �G2,t (ϕ)  �~A��� �
���� -$.�� B�*GH ��.��
]���� &�	� . �Dy�� c� �$���� ]����� ��s�&X� O B�*GH B�*G'� 34, 5��>��SαS  �	>s�� O -?{ �&� S4�� �v9�� �!"2 
 uv!�� c�1�� �Dy���� ���!
� �$8 K :α = 1,5 �c = º0,35 . ����
�� O �
���� x�;� �
���� ��
pC �*� �*
D�(23) 

 �$8n = 1 �d = 0,51 m . K&�+� l&�G �D����� ª!�� Ke�?�� �4, O�ϕ c� KT2  WCS1 Kº2,22 x�� c� �V!��>D �� ª!�D� K
 �
��V!� �@$>�G2 (ϕ) = – 6,7 dB . ���!>� T�	�� �4, g�D�G2,t (ϕ) �
���� -$.�� O B�*GH ��.�� . ��&�>��� -�H §8N��

 �!" 5G�=��� ����D K�9����� ���q� ��S1  �v.�	��� u>\ =9"G2,t (ϕ) > G2 (ϕ) �v.�	��� u>\ =9" 0��9�D� KG2,t (ϕ) > 

G2 (ϕ).  

<��¤ 5;8 

 �������� 	
�����(cdf)  
�������� �
������G2,t (0) �G2,t (ϕ)  ������ ������ ����� ���!" #���$  
%&��� '��( ) *�����T2 ����� +��,-" .(  

  
  

 5;<�� g�D�9  K�!2��� 	6�� F=" O �$��9�� ���D��� �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� c� �s!�� T$>� K
)e.i.r.p. (�
���� =D=�� �G �!" . &�,=��� S~A�� ��&�� ]��� ����R 4#s9� Ke�?�� �4, O�Zs �Zt  �&���� �v9�� �!"

 g����
�� O(19) �(27) g����8X� =D=v�� KZs �Zt . �!2��� 	6�� ¢	p O 	�9wD K�$%���� ��	�'� Ke�?�� �4, O�
 ���9�%98 . �	>s�� O 	��M ����2 KZMC e�?�� �4, �s6 b�&��P� 5������ �D��q 5G=�� ¢�	p c� �4, ZJ6 K

%pi = %2 . ��9EC ��	�6� �!"�%90 (%Tallow = %10)  ���q� O 5G�=���� 	*�� 5
s� ��/� WC �!2��� 	6�� F=" c�
SH K�9����� :(1 – P

s
 ( z )) = (1 – 0,98) × %90 5��>�� ��/� ±��, �=vwD Kmargin

z �${ 3N"H ��N
�� u>  S4��  
(1 – P

s
 ( z margin)) = (1 – 0,98) × %90 . ��/� ±��� �
���� -$.�� O B�*GH ��.�� �!2��� 	6�� F=" [�YC ��=  «

 K�4,1 – Pt ( margin
z ) . ��$� �!" e�1q� c;n�R(

margin
z )  ����
�� c�(30).  

 5;<�� c� g��D ����19K  �̀~?� �!2��� 	6�� F=" c� eN�^� c;n K]���� &�	� �~A��� �
���� -$.�� B�*GH ��.��
 �$8�9��� �:6�;�� �
<�� �&=>�� �6�?� is­)e.i.r.p. (=D=���� �G �!" . 	6�� F=" O ���D��� ZH K3N"H 	�M ��� K§8N��

 ��s·N� o�'� T$>!� �!2��� �v.�	��� u>v�� �${ Z�;� ZH c;n :  R(z ) < 0 . ��	*� o�'� T$>�� O KL�4��
 e��>�EX�(G/T) � 5��>���� 5G�=���� �̀��\ 	?�H e��>�EX� y�V. Z�;D c� [����� =D�D� 5G�=��� c� =D�D �£ b5����� c

�!2��� 	6�� F=".  
   

R(z )%

ΔB
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<��¤ 5;9  
 ������� 	
�� �
� � �������)(zR ���
�� � ������ ������ �1 �2  
 �� ����!"�� ��#�$�� �%��(G/T) (dB/K)  &�'$"()� *�	+, �R1 

  

6 ������ �	
� ��
 ���	��� ����  

 �$9�y �	�6 �=� �!" 5G�=��� �&=� �E��� f��8 uD	� c" 5D�*�� �=�� �!" 5G�=��� �&=� x�vw� K�̀s�� 	�M ���
�$9���� �	�s�� 34, c�% ]���� &�	� �~A��� 5G�=��� �&�p^ �$!$?���� ��~A��� 5� ���vw� �${ �s;D �� �!D�� . 	�9��

�	�� �X�1�X� ��*>� �!1�� ��M ��$2���� �&=� 5G�=��� �&=� ���� O 5G�=��� �&=� �E��� �!" �̀��$� �	s� z�� �D�D�
5À�>���� F��� B�%�% �&=� 5�d WC �!��>���� 5G�=��� . o�
wD MC� K]���� &�	� �~A��� �
���� -$.�� B�*GH f�$� O�

 c� 5G�=���T2  O 5��>����R1  g!����� o"S1 �S2[���� �v9�� �!" 34, 5G�=��� �&=� c" ~�
��� c;n K: 

3325321

32132

2,2,1,

2,1,

)1(1 ccccccc

ccccc

NIINN

II
f

ss

ss

s

++++
+

=

++++
+

=
↑↑↓

  (31)  

 �&=� �E��� x�vwD� K3N"H �9����� ���q� O ]���� &�	� �~A��� �
���� -$.�� B�*GH 5G=w� « eNG 5G�=���
�	�s�� Tavg  5G�=��� ½&��
� g�$*E��� g��$>�� �!" e�1v!�It,1 �It,2  cD��	��� ��V$�C ��	wD� ]���� 	� �!"  

� .[���� �v9�� �!" B�%�r�� �&=� [�YC c� 	�;� 5G�=��� �&=� �E��� c" ~�
��� L�M =
� c;n�:  

53212,23212,2323

2,23212,232

2,2,1,

2,1,

))0((/)0())((/)(1

))0((/)0())((/)(

ccccGBGcccGBGccc

GBGcccGBGcc

NIINN

II
f

tt

tt

tt

tt

t

+Δ+ϕΔϕ++

Δ+ϕΔϕ
=

++++

+
=

↑↑↓  (32)  

It ,1

It ,2

1857-09� ������e.i.r.p. 	
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 �
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 c;n K« c��[���� �v9�� �!" [�Y^� 5G�=��� WC ���9��� 5D�*�� �=�� �!" 5G�=��� �E��� c" ~�
���:  

t

st

L
f

ff
R

–
%100)%( ×=  (33)  

7 �������	 
�� ��
��� ������ �	��  

 ÁB�	.C �	>s�� 34, �	
� �	>s�� O ��&���� �$���q� ��$!�
�� 4$s9�� ��*­ ��*G4 . T
�>�� B�	.^� ZJ6 K=D=v��� -.� �!"�
 �4, Z�� �̀�!" b]���� &�	� �~A��� �
���� -$.�� B�*GH B�	. �!2��� 	6�� F=" O ���D��� x�  ��&�� z��� ����R �!"

�	GH ©wVw� e��
�E� c;n� K�v$%�� ©I.  

1.7 ����� ��	
�  

������ �	
���: mD&�*�!� �	
��� e�*�� ¢�*G T1 �R1 �T2 g!����� e�� ¢�*G� bS1 �S2� Kθ �G1(θ) �(G/T)1   
�T↓ �ϕ �
��� �@$>�� x�;�� �*�� KT2 �G2(ϕ)b �GS1 �GS2 �(G/T)S1 �(G/T)S2 �Ld �Lu �Tr.  


��� �	
���:  	*�� e�*, e=
�(mm/h %0,01) K �E��� j�6 ��s�&X�� 	*�� ��s�&�� 	v��� �*E �����)c� 5;� 
R1 �T1 �T2 .( g�$2���� e��
�E�� ���!
�� 34, f��8 c;n�ITU-R P.837 �ITU-R P.839.  

������ 
��� ���:  K�!2��� 	6�� F=
� ��yN�� �D�:�� x�9��%pi . �NG�=��� O �!2��� 5*
�� �11h�� ]���� �!V��
 K]���� &�	� �~A���%Tallow. 
���� �	�	� �
��� ���	�:  K�$
��<
�� ��VU��� e��N.  

������ ��!�� " #�$� %�	&':  e�*� ��s�&X�� ]���� �*G �VU��N ��D��y� Kφε �φa �&� S4�� �v9�� �!" Z��=����� K
 �	>s�� O -?{2  uv!�� c�1.  

2.7  ��
���� �� ������ ����� ���� ���
�(C/N) ����� ���! "#$%�� &'��(� )*��� ��+	, ��*- .  

 ���$�1:  �=�Bs �,�  �$8�9��� �:6�;�� �
<�� �&=>�� �6�?�)e.i.r.p. ( �
��, =D=�� �G �!"T2  F�=h�E��G2(φ)  �̀>6�
 �$2��!�ITU-R S.728 . 3�.�� S4�� �v9�� �!" u$�9���� 5G�=���� �>!
��� ���!*��� m!�h� �s� �6�?;�� 34, ZH �	�swD�
 �$2����ITU-R S.1432.  
 ���$�2: �!2��� ��~A�� x��.  

 H (   ��~A��� x��c1 �c2 �c3 �c4 �c5 �!2��� ���!
� e��
�E��  ����
�� O �&���� �v9�� �!"(18).  
f(   x��d1 �d2  ����
�� O �%��� �v9�� �!"(17).  

 ���$�3: �*����� �="�1�� g�!2��� O 	*�� 5
s� ��/� �=�.  
 H (  �*����� �="�1�� g�!2��� O 	*�� 5
s� ��h!� �$���	��� �6�?;�� e��� �=� 	*�� ���!
� F�=h�E�� A↑ � A↓     

�A↑, I
 �$2��!� �̀>6� KITU-R P.618.  

f(   c�� �=� 34, �$���	��� �6�?;�� e���3  ��VU�� e�*� �$
��<
�� ��~A��!�N  c� 5;� L�M� K�V9� 5;�A↑   
� A↓ �A↑, I

.  
 ���$�4:  ���=!� �$
��<
�� ��~A��� -U�� =���Zs  ����
�� F�=h�E��(19).  
 ���$�5:  g���=!� �$���	��� �6�?;�� ���� �=�Zs �Ps (z ) �$
��<
�� ��~A��!� -U��� �4, F�=h�E��.  
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 ��*/�6 : K��/� ±��, x��zi K�!2��� 	�$� F=
� f�!*�� K%pi × %(100 – Tallow) . ±���� �sD�zi  f�!*��
�$����� ��N
��� :(1 – Ps ( z )) = pi / 100 × (100 – Tallow) / 100.  

3.7  ������� 	
 ��
��� ����� ���� �����(C/N) ����� ���� ���!�� "#��$� %&��� ��'() *���+  

 ���$�7:  �!2��� ���!
� �=�e1 �e2 �e3 �e4  ����
�� O(13).  
 ���$�8:  ��V9� 5� e�� g$
��<" gVU�� =���NK  g$
��<
�� cD~A��!�G2,t (0) �G2,t (ϕ).  

 H (   �	>s�� O 	��M ���2  uv!�� c�1 ��V9� 5� e�� g$
��<" gVU�� =��� KN  -$.���� �*G S~A��φε �φa.  
f(   �
��, =D=�� �G c� �D����� ��VU�� x�� K-$.���� B�*GH� �$��9�� �	
��� e�*�� ¢�*G F�=h�E��T2  WC

 g!�����S1 �S2� KΦ (ϕ, φε, φa) �Φ (ϕ,φε,φa) �Φ (0, φε, φa)  �	>s�� O �%��� �v9�� �!"3  uv!�� c�1 .
 uv!�� O �$�	�!� �̀>6� -�H 	�4��� 	D=.�1 ���=�� KΦ (ϕ, φε, φa)  ���=�� �V!��>�ϕ

θBS  ����
�� O �V9" o
��(4).  
l(   e�*� g$
��<
�� gVU��� �=�N  g$
��<
�� cD~A��!�G2,t (0) �G2,t (ϕ) �!D ��� :  

G2,t (ϕ) = G2 (Φ (ϕ, φε, φa)).  
 ���$�9:  ��r�ΔB ��!
��.  
 ���$�10:  =���Zt  ����
�� O(12)  e�*� �
��<" -U�� �,�N.  
 ���$�11:  �=� g���=!� �$���	��� �6�?;�� ����Zt �Pt (z ) �$
��<
�� ��~A��!� -U��� �4, F�=h�E��.  
 ���$�12:  ��/� ±��� ���9��� �!2��� 	6�� �=�zi  ��*/� O f��+�6  �,�Pt (zi ).  
 ���$�13: �=�  K�!2��� 	6�� F=" O �$��9�� ���D���R zi( ) ����
�� O ��� K(30).  
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 O ]���� &�	� ~A�� �
���� -$.�� O B�*GH B�	. �&��P� 5������ �!" 5G�=��� &�}� T$$>�� �$UV9� uv!�� �4, �	"
 ����	� �!" ��#�	�� �$%&'� ��*+�)VMES.(  

���Dy =D=v��� -.� �!" �$UV9�� 34, e��9���  ��	*�� 0
�1G �s� L!�n S4�� ]��?�� ��	*��� u!
�D ��$6 5G�=���
��	q� c" �Y�� �
���� -$.�� O B�*GH Z�� c� c;�� K���	� �!" x��	�� . -�
%� S4�� k�M �� ����� ©V9�� -��<�D�

 �$2����ITU-R S.1323  ���� ��
� �$8%90 C �!2��� 5*
�� �$9���� �!V�� c� 	?�'� �!" W ��/� 5?� &�<��X� ��	}��
5À�>���� B�%�% O ��~A���� 	*�� 5
s� . -���� �� ZH �	�sw$6 K�$2���� 34, O ��H%(100 – Tallow)  �$9���� �!V�� c�

c��E ��	*� c" T.�9�� 5G�=���� &�<��X� ��	}�� WC ��
� �!��>�� . �!" 5G�=��� O ���D��� T$$>�� �$UV9� �̀rDH �	
w��
�9����� ���q�� u!
�D ��$6 5D�*�� �=�� . �	�6 �=� �!" �&�p^� �E��� 4G�D K5D�*�� �=�� �!" 5G�=��� 5$!\ O�TavgK 

H �	�swD�	�s�� 34, eNG X̀�>
� Ǹ$?a 5G�=�!� �$
�18^� 0
�1/� 5#?a �${ �s;D �� �=D=� Z�;� Z.  

__________ 
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